4@ ERBREGPEYE—FY FO—LTR MERE
BT OPRA 14 ota 8| [BEE 11~30: 31~504

No. FilE &F £l P& | R 50m  [AW| JIEfI | MB¥ET | IEAI | MB#HE& | JEGL | IZ0EBE | JEGD | SLAEREK | AW| JERL 300m [AW| JIEfZ | 1000m |AW| JIE{L
1 & RE 24| 2 5 7.0 71 9.00 106 9.40 76 2.05 121 10.75 68 45.0 61 3.40 86
2 EF Ay - 1 5 8.7 162 5.20 182 5.10 180 2.00 131 9.20 144 51.9 126 3.29 67
3 EF JIE E 1 5 7.8 134 7.25 153 6.30 159 2.10 97 10.15 95 52.8 135 3.53 103
4 EF 1R E} 1 5 8.3 158 5.40 181 5.00 181 1.50 182 8.20 171 54.6 140 4.28 112
5 EF [E]u] BE 2 5 190 189 186 175 56.0 143 3.33 73
6 EF 2 IRABE 2 3 190 189 186 175 52.3 129 3.36 80
7 & iR BE 1 5 190 189 186 175 57.0 144
8 EF = B 1 5 190 189 186 175 54.3 139 3.55 104
9 ¥ FREg EES 3 £ 6.3 12 13.00 8 13.20 10 2.45 22 12.60 13 42.9 37
10 ¥ Pafi D& 1 £ 190 189 186 175 4.35 114
11 SCC AIE &K 2 £ 6.3 AW| 12 9.91 79 9.60 71 2.35 39 13.02 |AW[ 5 40.6  |AW| 15
12 SCC AIE RK 1 £ 6.7 AW| 32 8.50 119 8.32 109 2.25 60 11.64 |AW| 28 439 |AwW| 54
13 SCC EiES =3} 1 £ 7.2 AW| 86 9.06 105 10.75 39 2.23 68 10.80 |[AW| 65 50.0 [AwW| 118
14 SCC RER 2 1 £ 7.3 AW| 91 9.58 89 7.32 136 2.02 129 10.60 |[AW(| 72 450 |AwW| 61
15 EAF JIR IR 2 £ 7.2 AW| 86 8.28 126 7.57 129 2.26 58 11.33 39 456 |AW| 68
16 EAF R f&X 2 £ 7.9 AW| 144 7.49 146 8.26 111 1.95 146 175 3.25 |AW| 55
17 EANF | BN [E 2 = 6.9 AW| 54 10.35 60 8.73 94 2.40 29 10.73 69 46.4  |AW| 81
18 EUNG HIE 2 2 = 6.8 AW| 42 10.75 42 8.17 115 2.50 14 175
19 EUNG Rk 23 2 = 7.3 AW| 91 8.60 113 7.55 130 2.15 91 10.15 95 46.8 |AW| 85
20 EUNG Rk B 1 = 7.4 AW| 102 6.75 167 5.27 176 1.90 157 9.85 115 532 |AW| 136
21 EUNG ek bia 1 = 9.70 83 10.60 42 2.20 69 175 3.00 |Aw| 10
22 EUNG JIIR B 1 = 7.4 AW| 102 9.08 103 6.67 152 2.10 97 10.90 62 50.6 |AW| 120
23 JIIAAE L% A 2 = 6.9 AW| 54 12.00 22 14.40 B 2.48 19 11.37 |AW| 37 436 |AW| 51 456 |AW| 120
24 JIAAE = & 2 = 7.8 AW| 134 10.05 73 13.30 9 2.16 87 9.23  |AW| 142 524 |AW| 130 438 |AW| 115
25 JIIAAE 78 ) R 2 = 6.7 AW| 32 10.30 62 12.40 16 2.34 43 10.46  |AW([ 77 456 |AW| 68 3.52  |Aw| 100
26 JIAAE HE g 1 = 6.7 AW| 32 12.10 20 12.40 16 2.40 29 1030 |AwW| 87 417 |AW| 24 251 |AW| 1
27 JIAAE AR ik 1 = .7 AW| 123 6.10 173 6.60 154 1.95 146 8.78 |AW| 160 514 |AW| 125 332 |AW| T1
28 JIIFAE TE 5 1 = 8.0 AW| 154 5.00 184 5.25 177 1.70 176 8.34 |AW| 169 55.8 |AW| 142 3.52  |Aw| 100
29 JIIFAE IR &8 1 = 7.6 AW| 117 7.40 147 5.20 179 1.90 157 8.70 |AW| 163 486 |AW| 105 350 |AwW| 98
30 JIAAE AL 2 1 = 7.8 AW| 134 7.00 162 6.15 162 1.70 176 8.44 |AW| 167 57.3 |AW| 145 427 |AW| 111
31 JIIFAE K i 1 = 6.8 AW| 42 10.65 43 12.10 24 2.36 37 11.22  |AW| 47 425 |AW| 33 318 |AW| 36
32 JIIFAE RE ER 1 = 7.3 AW| 91 9.60 85 9.50 74 2.06 119 9.10 |AwW| 148 46.1  |AW| 77 351 |AW| 99
33 JIRAE | TFokE =iE 1 = .7 AW| 123 10.30 62 10.45 48 2.09 111 9.40 |AW| 136 48.7 |AW| 108 3.42  |AW| 89
34 JIIFAE i Nl 1 = 7.0 AW| 71 7.85 134 7.30 137 2.32 44 10.45 |AW| 78 456 |AW| 68 336 |AW| 80
35 E 7T 20 2 = 7.3 91 190 189 1.90 157 9.70 123 3.05 16
36 E N "t 2 = 6.7 32 10.60 47 10.20 55 2.05 121 9.75 120
37 5 RE Py 2 = 8.4 160 190 189 1.60 181 8.50 164 3.42 89
38 5 B i 2 = 7.4 102 9.60 85 11.30 36 1.70 176 8.45 166
39 E e S 2 = 8.3 158 190 189 1.95 146 9.60 129
40 E i by 2 = 6.5 21 10.60 47 10.50 45 2.15 91 10.80 65
41 E A tHhHis 2 = 7.0 71 10.30 62 9.90 61 2.15 91 11.25 46 3.20 41
42 5 KE B3 2 = 10.65 43 9.40 76 186 175
43 5 L] B 1 = 5.80 177 6.20 160 186 175
44 E3 KA 5 1 el 77 123 6.50 170 5.80 168 1.95 146 8.20 171
45 E3 icli! BA 1 el 6.8 42 10.60 47 10.40 49 2.30 46 10.40 80 3.19 38
46 E3 HIH H= 1 e 7.3 91 7.20 154 5.80 168 1.40 184 9.10 148
47 E3 i FRAED 1 = 7.4 102 11.20 36 11.75 30 1.95 146 9.60 129
48 E3 HE AE 1 el 7.70 137 7.20 139 186 175
49 E3 # A 1 el 9.30 94 7.80 122 186 175
50 E3 = ped 1 el 9.3 165 5.60 180 189 1.50 182 7.40 174
51 E3 JEZ A TR 1 el 5.70 179 7.55 130 186 175
52 PR Ele5g g 2 el 190 189 186 175 3.35 7
53 PR K FHy 2 E 10.20 68 8.60 95 186 175
54 PR ZH Bt 2 E 6.8 AW| 42 9.90 80 10.60 42 2.20 69 11.15 53 458 |AW| 71 3.16 31
55 PR * S 2 5 75 AW[ 112 8.60 113 6.20 160 2.25 60 10.95 61 439 |AW| 54 3.17 35
56 PR — Y 2 5 7.7 AW|[ 123 8.60 113 8.20 113 1.95 146 9.90 109 45.0 |AW| 61 3.08 19
57 AR | THE hEA 2 E 6.9 AW| 54 9.50 90 8.20 113 2.20 69 8.75 161 429 |AW([ 37 3.06 18
58 PR 7 EZN 1 5 79 AW|[ 144 6.60 169 5.60 173 1.95 146 9.15 147 46.6 |AW| 84 311 21
59 PR *RE ENi 1 5 75 AW[ 112 7.50 141 5.80 168 2.10 97 9.85 115 491 |AW| 111 3.35 7
60 PR A —Rx 1 E 6.9 AW| 54 8.50 119 7.10 142 2.10 97 9.20 144 430 |AW]| 41 3.16 31
61 PR i) PRE 1 5 7.3 AW[ 91 9.30 94 7.40 134 2.07 115 10.80 65 477 |AW| 96 3.22 48
62 PR {m| B 1 E 7.3 AW| 91 9.15 100 8.50 100 186 175
63 PR R A 1 E 7.40 147 8.10 116 186 175
64 FRR Hi& ®E 1 E 5.90 176 5.00 181 186 175
65 PR kA [35) 1 E 7.20 154 5.00 181 186 175
66 f2i it it 1 E 6.9 AW| 54 8.00 130 771 125 2.10 97 10.27 |AW| 90 465 |AW| 82 3.18 |AW|[ 36
67 f2i ESS —i 1 5 7.7 AW|[ 123 7.70 137 8.80 92 2.03 128 9.35 |AW| 140 513 [AW| 124 343 |AW| 92
68 f2i EX i 1 E 6.9 AW| 54 190 189 2.07 115 9.23  |AW| 142 472 |AW| 87 311 |AW| 21
69 i A Fin 1 5 7.9 AW| 144 5.00 184 5.00 181 1.90 157 8.84 |AW| 158 526 [AW]| 133 331 |AW[ 69
70 f2i [ERS R 1 E 5.00 184 5.00 181 186 175
71 i B ] 1 E AW 5.01 183 5.00 181 186 175




72 24 Nz Bt 1 E 6.2 AWl 6 10.99 38 9.12 82 2.60 7 11.48 [AW[ 31 429 |Aw| 37 331 [AW| 69
73 24 2R A 1 E 7.3 Aw| 91 6.07 174 5.00 181 2.02 129 9.40 |AW| 136 48.6 |AW| 105 311 [AwW| 21
T4 1] /R wE 2 E 6.9 Aw| 54 6.45 171 5.92 167 2.18 83 9.67 |AwW| 127 445 |AW| 57 3.14  [AW[ 29
75 24 AR &5 2 5 7.06 160 7.95 121 186 175

76 246 7l 2% 2 5 6.6 AW| 28 7.26 152 5.95 166 2.32 44 9.86 |AW| 114 458 |AW| 71 259 |AW| 7
77 246 iy i 2 5 6.8 AW| 42 8.16 128 8.49 103 2.16 87 10.64 |AW[ 71 43.0 |AwW| 41 255 |AW| 4
78 246 =B & 2 5 10.25 66 10.70 40 186 175

79 24 il 2% 2 5 9.07 104 9.63 70 186 175

80 246 iy EEpN 2 5 8.26 127 8.75 93 186 175

81 1] e KIE 3 5 6.9 AW| 54 190 189 2.41 28 11.18 |AW| 51 446 |AW| 58 3.05 [AW| 16
82 246 weE H 3 5 6.1 AWE 2 190 189 2.58 9 13.63 |AW[ 1 381 |AWp 3 3.00 [AW[ 10
83 246 pustz:] FEA 3 5 6.8 AW| 42 190 189 2.30 46 11.09 [AW| 55 417 |AW| 24 259 |AW| 7
84 24 | BER 3 £ 6.2 AW| 6 190 189 2.63 R 11.82 |AW| 22 36.7 |AW[ 1 251 |AW| 1
85 3] B2 k) 2 £ 7.1 82 10.18 69 11.65 32 2.36 37 9.94 108

86 ] AH 2N 2 £ 6.7 32 10.80 39 9.78 65 2.63 R 11.47 32

87 3] HIE 2t 2 £ .7 123 7.60 140 7.15 141 2.07 115 8.96 153

88 3] VB s 2 £ 7.8 134 9.36 93 8.35 107 2.13 94 9.81 117

89 i T B 2 £ .7 123 10.50 52 8.22 112 2.09 111 10.22 91

90 i Ehi% 2l 1 £ 7.6 117 8.48 122 6.00 165 1.98 145 9.54 133

91 =22 | Rk EPN 2 £ 6.2 AW| 6 12.00 22 9.35 78 2.40 29 11.86 21 409 |AW| 16

92 =2 HE B 2 £ 6.8 AW| 42 9.10 102 7.40 134 2.28 55 10.60 72 451 |AW| 64

93 2y /INE ST 2 = 6.8 AW| 42 10.00 4 8.39 106 2.17 85 10.00 103 431  |AW| 44

94 B2 HE BE 2 = 11.40 32 9.06 86 2.13 94 10.85 63

95 2y ) HE 2 = .7 AW| 123 8.70 111 8.95 89 1.85 169 9.65 128 49.2  |AW| 113

96 g2 | ACE 5 1 = 7.1 AW| 82 10.40 56 8.60 95 2.35 39 11.10 54 458 |AW| 71

97 2y HFER liZi3 1 = 6.8 AW| 42 12.95 9 13.70 6 2.30 46 11.20 48 428 |AW| 36

98 2y H IE— 1 ES 7.10 159 189 186 175

99 B2 FH R 1 = 12.10 20 10.60 42 2.10 97 9.88 112

100 458 LA RE 1 = 9.4 166 5.80 177 6.50 155 1.20 185 7.50 173 5.06 121
101 458 i & 1 = 7.9 144 7.90 132 6.80 148 2.00 131 10.20 92 48.0 99 3.25 55
102 |wwiirwa| JTH %A 3 = 6.2 AW| 6 190 189 2.65 2 12.88 |AW[ 8

103 = IR E4 2 = 7.9 144 7.20 154 7.00 144 1.90 157 9.75 120 49.9 116 3.26 60
104 = TE R 2 = 9.30 94 9.10 83 2.20 69 10.40 80

105 = MAR Hib 2 = 7.0 71 10.00 74 10.50 45 2.25 60 10.35 86 43.4 47 311 21
106 = AR A 1 = .7 123 6.90 166 6.40 157 2.00 131 9.80 118 49.9 116 3.45 93
107 = RS 2ttt 1 = 7.8 134 6.00 175 6.10 163 1.95 146 9.25 141 51.9 126 3.55 104
108 = TR ki 1 = 6.6 28 10.40 56 11.60 34 2.40 29 11.30 41 43.0 41 3.33 73
109 = = g Kém 1 = 7.3 91 7.30 150 6.50 155 1.85 169 9.50 135 48.2 103 3.28 64
110 = iy AR 1 = 6.8 42 10.00 74 8.60 95 2.10 97 9.70 123 46.5 82 3.25 55
111 | BRB)r | FO P& 3 = 6.1 AWE 2 15.40 1 15.90 1 2.63 B 13.17 |AW[E 3 401 |AW| 12

112 | BRBI)r | K% &% 3 = 10.50 52 10.00 58 2.50 14 12.86 |AW[ 9 412 |AW| 17

113 | BRBJ)r | KWH 23 3 = 6.2 AW| 6 11.50 28 12.80 13 2.18 83 1117 |AW| 52 389 |AW| 6

114 | BRBIr F [ 3 = 6.1 AWE 2 15.00 2 14.00 4 2.70 1 1258 |AW| 14 415 |AW| 20

115 | BRBI)r | WF FAREA 3 = 6.4 AW| 18 11.30 35 12.50 15 2.30 46 11.28 |AW| 45 423 |AW| 31

116 | BRBI)r | s %8 2 = 12.20 18 12.00 25 2.57 10 12.27 |AW[ 17

117 | BRBJr | bl R 2 = 75 AW| 112 9.60 85 7.70 126 2.16 87 9.88 |AW| 112 3.28 |AW| 64
118 | ERZB)r | BH BEIR 1 = 7.0 AW| 71 8.60 113 7.60 127 2.10 97 10.05 |AW|[ 101 3.04 |AW]| 15
119 | ERB) | =M KR 1 = 6.5 AW| 21 11.40 32 6.90 146 2.28 55 9.53 |AW| 134 435 |AW| 49

120 | BRB) | #FT AT 1 el 6.9 AW| 54 8.60 113 7.50 132 2.05 121 9.74  |AW| 122 458 |AW| T1

121 el AT EX 2 el 6.8 40 11.45 30 12.00 25 2.60 7 12.85 10 42.4 32 3.00 10
122 =l i BA 2 el 7.0 80 10.10 70 10.00 58 2.40 29 11.70 23 44.8 59 3.23 50
123 =l iy XE 2 el 7.6 116 8.10 129 7.60 127 2.20 69 10.70 70 49.2 115 3.36 80
124 =l HE (%N 2 = 7.1 81 9.25 99 8.50 100 2.35 39 11.30 41 46.2 79 3.26 60
125 =l 2% BRE 2 e 7.4 109 7.90 132 6.90 146 1.95 146 10.30 87 45.9 75 3.01 13
126 =l AR B 2 el 6.9 70 12.20 18 10.30 52 2.30 46 11.50 30 43.4 47 3.24 53
127 =l 55 i3 2 el 6.6 27 10.50 52 10.15 56 2.45 22 12.10 18 39.8 9 3.22 48
128 =l N i 2 e 77 122 7.20 154 6.70 151 1.95 146 10.40 80 47.8 97 3.23 50
129 =l 1LiPg BR 2 E 75 111 8.30 125 8.30 110 2.10 97 9.60 129 475 94 3.13 27
130 el =y e 2 E 6.6 31 12.40 15 10.30 52 2.48 19 12.40 15 432 46 3.14 29
131 Bal | ARE i 2 E 10.55 50 10.40 49 2.20 69 175 3.20 41
132 =l X8 s 2 E 8.0 153 7.50 141 8.45 104 1.80 173 9.70 123 52.5 131 4.04 108
133 =l bk HE 2 E 7.1 84 12.75 11 12.20 21 2.20 69 11.05 56 47.1 86 3.40 86
134 =l 8 jEE 2 E 6.8 40 10.65 43 9.90 61 2.20 69 11.40 85 46.1 7 3.16 31
135 el [ilny R 1 5 7.4 102 8.70 111 8.10 116 2.00 131 10.00 103 47.4 93 3.40 86
136 el B & 1 E 7.2 85 10.80 39 10.95 38 2.20 69 10.60 72 48.6 107 3.36 80
137 =l =T REGT 1 E 8.7 163 5.00 184 5.25 177 1.65 180 8.30 170 54.0 137 3.27 63
138 Bal | SRS F 1 E 7.5 110 10.50 52 9.90 61 2.00 131 9.70 123 50.8 121 4.08 109
139 el (RS = 1 E 6.9 54 10.40 56 9.70 67 2.25 60 11.40 85 42.9 40 2.59 7
140 el =0 =% 1 E 8.5 161 9.15 100 9.50 74 1.90 157 8.75 161 62.4 146 431 113
141 el BR = 1 5 7.3 90 10.25 66 9.70 67 2.25 60 11.00 57 47.2 87 3.42 89
142 el BT ¢ 3 E 6.8 39 10.35 60 11.30 36 2.50 14 12.78 11 43.1 45 3.26 60
143 el XE FIN 3 E 6.6 26 13.25 5 13.45 8 2.55 12 13.60 2 43.6 53 3.34 75
144 el =T +2 3 E 6.9 53 12.30 16 12.20 21 2.25 60 11.70 23 42.2 30 2.57 6
145 E5w & fiE 2 E 6.0 AWl 1 12.69 12 12.78 14 2.27 57 13.05 [AW| 4 382 |AW[ 4

146 E5w HAY TTH 2 E 6.3 AW[ 12 10.63 46 9.75 66 2.30 46 1274 |AW| 12 418 |AW| 27

147 E5fE mE A 2 E 6.5 AW| 21 10.52 51 9.55 73 2.17 85 11.67 [AW[ 27 419 |Aw| 28




148 EofE izl B 2 E 11.38 34 11.87 29 186 175

149 EofE FAE # 1 E 6.5 AW| 21 190 189 2.26 58 11.35 |AW| 38 416 |AwW| 22

150 Eof |HEELEH BN 2 E 6.2 AW| 6 11.77 26 11.97 28 2.19 82 1131 |AW| 40 395 |AW| 7

151 HiZK tE B3 2 5 6.3 AW| 12 7.80 135 8.40 105 2.50 14 11.30 [AW([ 41

152 HiZK R "tE 2 5 6.3 AW| 12 8.80 109 9.00 87 2.47 21 11.90 |AW[ 20

153 HiZK SH =i 1 5 6.7 AW| 32 7.40 147 7.80 122 2.25 60 11.20 |AW| 48

154 HiZK 55 R 1 5 7.8 AW| 134 190 189 1.70 176 8.80 |AW| 159

155 HiZK [EES B 3 5 6.1 AWE 2 11.50 28 12.85 12 2.56 11 1290 |AW[ 7

156 KINA 2R 2 JH 3 5 7.2 86 13.10 7 14.85 2 2.20 69 9.20 144

157 KINA T B3} 3 5 6.9 54 11.45 30 12.30 18 2.39 & 11.70 23 42.7 34

158 KINA MR BA 1 5 .7 123 9.50 90 9.15 81 2.05 121 9.90 109 51.9 126

159 2P hE ok 2 5 7.3 91 7.65 139 6.63 153 2.08 113 10.15 95 49.2 113 3.25 55
160 R K S 2 £ 7.9 144 7.04 161 5.80 168 1.84 172 8.93 154 54.2 138 3.35 7
161 E5 R i 2 £ 7.0 71 7.00 162 7.00 144 2.00 131 10.10 98 420 |AW| 29 3.36 |Aw| 80
162 E5 =8 %3} 2 £ 7.9 144 6.70 168 6.40 157 1.80 173 8.90 155 488 |AW| 109 332 |AwW| 71
163 En Lzl ek 2 £ 7.8 134 7.50 141 6.10 163 2.20 69 9.80 118 473 |AW| 89 3.52  |Aw| 100
164 E5 )1 EA 2 £ 6.4 18 10.00 4 10.00 58 2.16 87 10.40 80 451 |AW| 64 3.58 |AW| 106
165 E5 LR B 2 £ 7.2 86 7.50 141 8.00 119 2.38 36 10.40 80 455 |AW| 67 3.49  |Aw| 97
166 E5 ZEH R 2 £ 7.3 91 8.80 109 8.90 90 2.00 131 10.20 92 416  |AW| 22

167 E5 hE EIER) 2 £ 6.9 54 8.40 123 9.00 87 2.30 46 10.50 75 412 |Aw| 17 251 |AW| 1
168 E5 B Eol 1 £ 8.2 157 7.30 150 7.80 122 2.20 69 10.00 103 48.4 |AW| 104 3.16 |AW| 31
169 =5 g &1 1 = 7.4 102 9.90 80 8.90 90 2.30 46 10.10 98 449 |AW| 60 3.46  |AW| 94
170 =5 PR ol 1 = 7.9 144 4.30 188 5.30 175 2.10 97 8.90 155

171 =5 e TR 1 = 7.5 112 7.20 154 7.10 142 2.20 69 9.40 136 46.3  |AW| 80 323 |AwW| 50
172 =5 =8 hz 1 = .7 123 3.50 189 3.50 188 2.00 131 8.50 164 50.9 |AW| 122 4.00 |AW| 107
173 =5 )1 R 1 = 6.8 42 6.20 172 5.70 172 2.10 97 9.40 136 442  |AW| 56 3.25 |AW| 55
174 =5 HR SR 1 = 7.6 117 7.00 162 6.80 148 2.30 46 9.10 148

175 =5 R el 1 = 8.1 156 7.50 141 6.80 148 1.90 157 9.90 109

176 JIINE R HEW 2 = 12.50 14 11.50 35 2.10 97 11.30 41

177 JIINE = Py 2 = 11.70 27 10.70 40 2.00 131 10.20 92 427 |AW| 34

178 JIINE ¥ Bl 2 = 10.10 70 9.20 79 2.00 131 10.00 103 451 |AW| 64 3.01 13
179 JIINE EH #7) 2 = 12.60 13 12.30 18 186 175 417 |AW| 24 3.19 38
180 JIINE = - 2 = 190 189 1.85 169 9.55 132

181 JIINE iz HEW 2 = 10.30 62 12.00 25 2.10 97 10.40 80 401 |AW| 12 4.53 116
182 JIINE BT 5E 2 = 10.40 56 8.60 95 2.00 131 10.50 75 473 |AW| 89

183 JIINE ~H B 2 = 14.10 4 12.90 11 2.40 29 11.00 57 413 |AW| 19 3.48 96
184 JIINE & A 2 = 9.90 80 9.10 83 186 175 4.53 116
185 JIINE HFE HRE 2 = 9.30 94 10.40 49 1.90 157 10.00 103 479 |AW| 98 3.19 38
186 JIINE BE &=} 1 = 9.00 106 9.10 83 1.90 157 8.40 168 51.1 |AwW| 123 4.54 118
187 JIINFE ] b 1 = 10.10 70 10.10 57 2.00 131 10.30 87

188 JIINFE tE ESS 1 = 8.00 130 8.10 116 1.90 157 8.90 155 526 |AwW| 133 4.54 118
189 EBER B 1ER 2 = 6.4 18 14.20 B 13.60 7 2.53 13 13.00 6 40.0 10

190 EBER 7T s 1 = 8.0 154 9.70 83 9.60 71 1.90 157 9.10 148

191 BER Il i 1 = 6.9 54 11.85 24 8.35 107 2.25 60 11.00 57 48.0 99

192 BER | L& #t 1 = 6.9 54 11.00 37 10.30 52 2.35 39 11.20 48 47.6 95

193 BER A IR 1 = 6.9 54 11.80 25 11.65 32 2.13 94 11.00 57 48.0 99

194 =E%H 5 BB 2 = 190 189 2.43 24 175 435 |AW| 49

195 =E%H 3 KE 2 = 6.7 32 13.20 6 13.80 5 2.43 24 11.92 19 402  |AW| 14 3.21 44
196 =E% 2A fik 2 el 6.9 54 9.60 85 9.80 64 2.43 24 11.70 23 415 |AW| 20 3.13 27
197 =E% BIR B/ & 2 el 9.30 94 9.70 67 2.10 97 175 49.1 111 3.20 41
198 =E% NG BEst 2 el 6.5 21 12.90 10 11.70 31 2.43 24 11.47 32 386 |AW| b 321 44
199 =R FRIR R—ER 2 el 7.0 71 190 7.20 139 2.06 119 1141 34 50.0 118 3.28 64
200 =E% IR G 1 = 7.8 134 7.80 135 7.30 137 2.05 121 175 48.0 99 3.10 20
201 =E% HA e 1 el 7.8 134 8.40 123 8.00 119 2.07 115 10.10 98 473 |AW| 89 3.37 85
202 =E% ] 1B 1 el 7.00 162 5.60 173 1.76 175 175

203 =E% ifm| ey 1 el 6.6 28 12.30 16 12.30 18 2.63 B 11.55 29 396 |AW| 8 3.12 26
204 =E% HE ) 1 el 7.6 117 9.00 106 8.60 95 2.05 121 175 48.8 109 321 44
205 =EY | B/ £ & 1 E 7.8 134 190 189 1.90 157 175 52.5 131 3.29 67
206 wEEH JIEk K5 1 5 7.9 144 10.00 74 10.50 45 1.95 146 10.04 102 473 |AW| 89 3.47 95
207 BEEH RS e 1 E 9.0 164 10.80 39 12.15 23 2.05 121 8.98 152 549 [AW| 141 4.09 110
208 =R Be (=2 1 E 7.0 71 9.50 90 9.20 79 2.08 113 10.85 63 400 |AW| 10 311 21
209 mEEH AR s 1 5 7.4 102 8.50 119 8.50 100 2.00 131 10.45 78 46.0 |AW| 76 3.34 75
210 =R t=H BT 1 E 7.6 117 8.60 113 7.50 132 2.00 131 175 3.24 53
211 =R t=H PN 3 E 6.3 12 190 189 2.49 18 12.30 16 377 |AWE 2

212 =R PN AT 3 E 7.0 71 190 189 186 175 43.6 51 2.56 5
213 ME FEH RA 1 E 190 189 186 175 321 44




w4 @ EREEDPSF4HEYE— OV FO—)LTRME

¥ FEY 14 2 i 8t |8 11~30f 31~50f
No. B &% EAw) FE | MR 50m AW| Bz MBH#ET | IEfz | MB## | JBAL | zt@bk | Bz | ST ARk | AW| IBAL 300m [AW| JBAZ | 1000m |AW| JBfZ
1 EF S]] FIE 1 k=g 7.8 78 9.20 71 8.10 85 2.05 32 9.70 47 52.2 78 3.47 46
2 EF R T 1 k=g 7.5 38 9.85 51 9.00 57 2.00 44 10.20 21 51.9 73 4.16 87
3 EF AR psia 1 k=g 190 188 192 177 57.0 116 4.03 74
4 EF B e 1 @ 190 188 192 177 57.0 116 4.14 86
5 EF FIE DS 1 @z 190 188 192 177 56.5 112 4.05 76
6 SCC i3 2 2 k=g 7.8 AW 78 6.15 181 188 1.87 119 9.55 AW| 60
7 SCC #l HeE 1 k=g 7.2 AW 14 7.15 154 7.13 128 2.00 44 9.87 AW| 37 51.5 AW| 62
8 YN g -3 2 k=g 8.2 AW|[ 116 11.08 12 7.65 106 2.00 44 9.25 81 57.0 AW| 116
9 YN AT B 2 k=g 7.45 143 5.92 167 1.80 131 177 3.34 AW| 22
10 EAH J114E BX 2 k=g 7.6 AW 53 6.74 166 6.44 151 1.85 122 9.28 77 54.8 AW| 102
11 YN 1REE [N\ 2 @ 6.80 165 5.40 180 2.00 44 177 3.35 AW| 24
12 E A fna i 2 ks 7.20 152 5.68 172 2.00 44 177 3.57 AW| 63
13 E A I wE 2 k=g 7.7 AW 71 7.47 142 5.00 184 2.04 39 177 3.28 AW| 15
14 E A BE F7 1 k=g 5.91 184 5.00 184 1.60 182 177 3.57 AW| 63
15 YN bl &It 1 k=g 7.35 149 6.76 140 2.00 44 177 4.01 AW| 69
16 YN B= B 1 © 6.55 170 6.13 164 1.90 101 177
17 JIIRAE == BEX 2 ks 7.6 AW 53 7.55 136 6.90 136 2.00 44 8.87 AW| 115 52.0 AW| 76
18 JIIRAE AR Thi 2 ks 7.2 AW 14 9.40 65 7.50 108 2.00 44 9.60 AW| 54 50.2 AW| 48 3.47 AW| 46
19 JIIAEE f ik 2 ks 7.2 AW 14 9.40 65 8.30 77 2.00 44 9.28 AW| 77 46.5 AW| T 3.47 AW| 46
20 JIIRAE = B 2 ks 7.6 AW 53 7.80 128 7.80 95 1.80 131 9.18 AW| 89 46.8 AW| 8 3.18 AW| 5
21 JIIRAE BN Hh 2 ks 7.2 AW 14 9.10 76 8.90 60 2.25 6 10.10 AW| 22 44.7 AWE 3 3.38 AW| 27
22 JIIAEE KR =3 1 ks 7.5 AW 38 7.08 156 6.86 137 1.93 93 9.88 AW| 36 50.4 AW| 51 3.42 AW| 37
23 JIIAEE it FEE 1 ks 7.6 AW 53 8.10 115 6.57 147 1.87 119 9.23 AW| 83 48.3 AW| 20 3.18 AW| 5
24 JIIAEE FEB HE 1 ks 1.7 AW 71 6.87 163 6.20 163 1.95 83 8.35 AW| 151 51.4 AW| 61 4.05 AW| 76
25 JIIRAE MLt ¥4 1 ks 7.4 AW 27 5.80 185 6.06 166 1.70 158 8.86 AW| 117 48.7 AW| 28 3.43 AW|[ 39
26 JIIAEE A i 1 keq 7.6 AW 53 6.55 170 6.70 143 1.70 158 8.82 AW| 121 49.3 AW| 35 3.49 AW| 53
27 JIIAEE = =B 1 keq 1.4 AW 27 6.90 160 6.25 160 1.76 145 9.54 AW| 62 479 AW| 14 3.38 AW| 27
28 JIIAEE 1Rk EX3 1 keq 7.6 AW 53 7.95 126 7.40 114 1.90 101 8.50 AW| 142 50.7 AW| 54 3.50 AW| 57
29 JIIRIE Jel FLTt 1 keq 7.6 AW 53 5.80 185 6.50 150 1.95 83 8.69 AW| 131 49.1 AW| 32 3.33 AW| 21
30 JIIRIE ZAiE ES -3 1 keq 7.5 AW 38 8.20 111 7.50 108 1.98 81 9.78 AW| 44 53.7 AW| 91 4.16 AW| 87
31 JIIAEE kE HE 1 keq 7.5 AW 38 8.10 115 8.80 66 1.80 131 9.25 AW| 81 51.8 AW| 68 3.34 AW| 22
32 JIIAEE FEB = 2 keq 1.4 AW 27 9.15 75 9.10 b5 1.95 83 9.00 AW| 102 51.8 AW| 68 4.19 AW| 89
33 2R 7R R 2 keq 190 188 1.65 176 8.70 128 3.40 34
34 8®IR =HF H 2 keq 7.6 53 8.30 109 8.10 85 1.95 83 8.60 134
35 95 Fiava e 2 ey 8.0 101 190 188 1.70 158 8.25 156
36 95 =% HE 2 ey 1.7 71 10.15 39 7.70 101 1.70 158 9.30 73
37 95 PN Bk 2 ey 10.90 18 9.50 43 192 177
38 95 It W 1 ey 7.6 53 190 188 1.55 184 8.75 127 3.32 20
39 95 g HER 1 ey 8.1 107 7.50 137 8.00 91 1.70 158 7.85 168
40 95 Kig ME+ 1 ey 7.4 27 10.10 41 8.90 60 1.85 122 9.80 40
41 95 A FR 1 ey 8.1 107 190 188 1.40 188 7.70 172
42 B9 RHAD ES 1 ey 7.9 89 9.20 71 10.50 20 2.10 15 9.80 40
43 95 briipes 4 1 kg 7.5 38 8.00 120 7.20 124 1.70 158 8.40 146
44 95 Ty & 1 =y 8.3 126 190 188 1.55 184 8.35 151
45 B9 ALl s 1 =y 7.5 38 8.00 120 8.60 69 1.80 131 7.85 168
46 95 S & 1 =y 7.00 157 5.90 168 1.65 176 7.75 170
a7 95 N 21t 1 =y 7.9 89 7.50 137 7.30 119 1.70 158 9.70 a7
48 B9 Py g FEHLE 1 =y 8.6 145 190 188 1.40 188 8.20 158
49 95 S & 1 =y 7.00 157 5.90 168 1.65 176 7.75 170
50 B9 NG 21t 1 =y 7.9 89 7.50 137 7.30 119 1.70 158 9.70 a7
51 B9 Py g FEHLE 1 =y 8.6 145 190 188 1.40 188 8.20 158
52 PR £yl b2 3 @z 190 188 2.20 7 9.60 b4 4.07 79
53 PR KE BlE 3 z 7.4 AW 27 9.70 56 10.00 32 2.00 44 10.30 16 44.0 AWE 2 3.09 1
54 PR H* HEW 3 z 7.5 AW 38 9.00 80 8.30 77 2.00 44 8.90 110 45.9 AW| 6 3.19 8
55 PR jpass] wE 2 z 8.3 AW| 126 8.00 120 7.30 119 1.90 101 7.93 167 51.9 AW| 73 3.47 46
56 PR Bl e 2 k*g 7.8 AW 78 10.80 20 8.50 72 192 177
57 PR p=Am} W 2 z 8.4 AW|[ 135 8.00 120 7.70 101 1.85 122 8.03 164 56.5 AW| 112
58 PR Fih ESS 2 z 8.1 AW| 107 190 188 1.85 122 7.95 166 50.1 AW| 45 3.38 27
59 PR BRER ESy 2 k*g 7.4 AW 27 8.70 93 7.80 95 192 177 47.7 AW| 13 3.44 40
60 PR = =8 2 z 8.0 Aw| 101 10.20 35 10.00 32 2.00 44 8.55 139 52.6 AW| 80 3.47 46
61 PR Al B 1 z 8.0 Aw| 101 10.50 25 10.20 30 1.90 101 9.20 84 50.0 AW| 42 3.45 43
62 PR fEE{E wFE 1 k=4 7.8 AW 78 9.10 76 8.10 85 1.95 83 8.90 110 49.9 AW| 39 3.39 30
63 PR M BRE 1 k=4 8.2 AW| 116 8.40 107 7.00 130 2.00 44 8.55 139 53.9 AW| 92 3.39 30
64 PR TR B 1 kg 7.9 AW 89 10.30 31 9.50 43 192 177 55.9 AW| 110
65 PR A =t 2 1 k=4 8.0 Aw| 101 9.00 80 8.30 77 2.07 30 9.10 92 49.3 AW| 35 3.28 15
66 3 JEE ¥E 1 k=4 7.0 AW 7 8.52 101 8.12 84 2.01 43 9.18 AW| 89 45.0 AW 4 3.49 AW| 53
67 o] BE ji ) 1 k=4 5.99 183 5.47 176 192 177
68 o] 2E vyiA 1 k=4 7.5 AW 38 5.70 187 5.41 179 1.95 83 8.70 AW| 128 51.7 AW| 66 3.15 AW 3
69 o] hE (63 1 k=4 7.9 AW 89 6.26 178 5.45 177 1.89 117 8.57 AW| 138 51.8 AW| 68 3.18 AW 5
70 f3a] HEK & 1 k=4 7.3 AW 21 7.85 127 7.20 124 2.00 44 9.65 AW| 51 48.2 AW| 19 3.36 AW| 25
71 =1 niE (kAN 1 k=4 7.6 AW 53 6.86 164 5.40 180 1.75 146 8.79 AW| 126 52.6 AW| 80 4.00 AW| 66




72 24 il RE 2 = 6.9 AWl 3 7.98 125 7.68 105 2.00 44 9.80 |AW| 40 486 |AwW| 27 339 [AW| 30
73 24 Hiis B¥ 2 = 8.2 Aw| 116 5.00 189 5.00 184 1.75 146 9.00 |AwW| 102 53.6 [AW[ 90 337 [AW| 26
74 &2 il ER 2 = 7.9 89 8.95 89 6.53 148 2.05 32 8.50 142

75 3] LS ®E 2 e 8.7 151 8.08 119 6.40 153 1.92 94 8.87 115

76 M HE BE 1 e 7.8 78 9.21 70 7.30 119 1.82 129 8.11 161

77 M i EEa 2 e 8.4 135 8.41 106 6.25 160 1.84 128 8.86 117

78 3] hE [} 1 e 8.9 154 8.18 114 7.25 123 174 153 8.60 134

79 3] =] S 2 e 8.4 135 10.50 25 10.46 25 191 98 8.86 117

80 3] E bk 2 e 8.3 126 8.64 96 5.75 170 211 14 9.29 76

81 3] e’ =2 1 e 8.9 154 7.32 150 7.20 124 1.87 119 8.08 163

82 =2 T 2R 2 e 7.3 AW| 21 9.05 79 8.10 85 2.03 40 10.01 29 48.7 |AW| 28

83 =2 KF EEES 2 e 7.6 AW| 53 .75 130 6.75 141 191 98 9.00 102 54.8 [AW[ 102

84 =228 | PFA BE 1 = .4 AW| 27 10.70 21 9.90 36 2.05 32 9.96 33 511 [AW| 57

85 =2 bS DE 1 = 7.4 AW| 27 11.15 10 11.05 15 2.20 7 9.46 65 481 |Aw| 17

86 =2 faF ) 1 = 8.9 AW| 154 8.75 91 188 192 177 69.0 |AwW| 133

87 =2 ] 3Gl 1 = 7.9 AW| 89 8.55 100 8.00 91 1.90 101 10.07 26 519 [AW| 73

88 £S5 AR B3] 2 = 8.5 141 8.10 115 7.00 130 2.00 44 8.30 154 55.2 106

89 £S5 #HH et 1 = 8.3 126 6.50 172 5.20 183 1.70 158 8.80 122 55.0 104 3.49 53
90 £S5 /IR HOH 1 = 9.4 160 6.90 160 7.70 101 1.30 191 7.60 174 4.43 98
91 £S5 AH thie 1 = 8.1 107 6.50 172 7.00 130 1.80 131 8.40 146 62.0 128 4.13 85
92 |w w7 EEl FHFTF Bt 2 = 7.2 AW| 14 190 188 2.30 2 10.98 |AWE 2

93 FREE [apdic} XA 2 ES 7.6 53 11.50 6 10.30 27 2.10 15 9.20 84 50.5 53

94 FRE B8 S 2 ES 8.3 126 10.50 25 10.50 20 2.00 44 9.10 92 54.1 97

95 FREE AL EE 1 ES 8.2 116 9.70 56 10.20 30 2.05 32 9.50 63 51.5 62

96 = K ® 2 ES 7.5 38 7.50 137 7.50 108 2.15 11 9.55 60 56.8 115 4.40 97
97 = JIIER s 2 ES 7.1 9 10.40 28 10.00 32 1.75 146 10.25 20 55.5 108 4.28 93
98 = [1m] ok 1 ES 8.0 101 6.20 179 5.70 171 1.75 146 177

99 = TR 2% 1 ES 8.3 126 6.30 177 5.60 174 1.80 131 8.90 110 56.7 114 3.58 65
100 = R E;| 1 ES 8.5 141 5.60 188 5.30 182 1.75 146 8.10 162 59.9 125 4.01 69
101 | BRES) | BEA W 3 ES 10.40 28 9.30 47 192 177

102 | BRES) | WK HhE 3 z 7.3 AW| 21 11.70 4 11.30 11 2.00 44 10.10 [AW| 22 470 |AW| 9

103 | BES) | &H LR 3 z 10.20 35 9.90 36 1.95 83 10.93 |AW[E 3

104 | BRS) | =kH R 3 z 12.50 2 14.00 1 192 177

105 | BRSI) & HH 3 = 8.70 93 8.10 85 192 177

106 | BRES) | B ) 2 z 8.10 115 8.90 60 2.03 40 10.05 |[AW| 27

107 | BRES) | #H FE 2 z 8.50 102 8.00 91 1.68 172 8.48 |AW| 145

108 | BREBI) | & PIER 2 z 8.6 AW| 145 7.00 157 7.40 114 172 155 8.61 |Aw| 133 64.0 |AW| 131

109 | ERS&) | R X 2 z 7.8 AW| 78 8.40 107 7.40 114 2.13 13 1037 |AW| 15 55.0 |AW| 104

110 | BRB)r | & R 1 z 7.5 AW| 38 190 188 192 177 522 |AW| 78

11 | ERB) | & LDH 1 = 8.50 102 8.50 72 1.64 181 8.64 |AW| 132

112 | BRE) | BT = 1 = 8.2 AW| 116 7.80 128 8.00 91 171 156 8.24 |AW| 157 3.46  |AW| 44
113 | ERB) | NE EIES 1 = 7.6 AW| 53 9.70 56 7.20 124 191 98 9.59 |AW| 59 3.40  |AW| 34
114 =l i} #A 2 = 7.6 52 10.25 34 10.50 20 2.20 7 10.50 12 511 59 3.22 10
115 =l ER EE 2 = 8.2 125 9.00 80 8.55 70 1.90 101 9.40 69 52.7 83 4.06 78
116 =l JEES (e 2 = 7.4 37 12.10 B 11.75 6 2.10 15 9.85 38 49.3 34 4.02 72
117 =l AR 215 2 = 9.2 159 9.90 48 10.25 29 1.65 176 8.00 165 67.0 132 5.58 104
118 =l HR FRIBIR 2 = 8.6 150 7.40 144 7.50 108 1.70 158 8.80 122 53.0 85 3.23 11
119 =l t=H ke 2 = 8.9 157 7.70 131 7.40 114 1.55 184 7.70 172 59.4 123 4.00 66
120 =l Bl RKE 2 = 8.1 106 10.35 30 9.30 47 1.98 81 9.20 84 50.1 45 3.25 12
121 =l =K EiES 2 = 7.8 88 8.75 91 7.65 106 1.92 94 9.00 102 51.6 64 4.01 69
122 =l L) o] 2 = 7.3 21 10.30 31 10.50 20 2.08 29 10.50 12 50.0 42 4.03 74
123 El] P WHE 2 E:q 7.2 14 10.20 35 9.30 47 2.10 15 10.30 16 48.8 30 3.52 60
124 =l FKR BE 2 E:q 77 71 9.00 80 9.25 50 2.10 15 10.00 30 51.1 59 4.02 72
125 El] i HL7) 1 = 8.0 100 7.15 154 6.35 156 1.80 131 9.10 92 51.9 72 3.47 46
126 Hal | AEE Fx 1 = 190 188 192 177 3.50 57
127 El] IR L 1 = 7.6 69 9.55 63 9.80 & 2.10 15 9.60 54 471 10 3.25 12
128 =l Ligm} WEE 1 :q 77 70 7.65 133 6.70 143 2.00 44 10.05 27 48.0 15 3.17 4

129 =l R B 1 E:e 7.7 7 8.60 97 7.00 130 1.92 94 9.00 102 50.8 55 3.48 52
130 =l | AdRT | <Bn 1 = 7.9 99 7.65 133 5.65 173 1.90 101 9.30 73 49.0 31 3.21 9

131 =l EE hrv 3 E:e 7.9 98 9.65 59 7.75 100 2.05 32 10.30 16 49.9 38 3.41 36
132 Erc] Y& mE 2 = 7.4 AW| 27 10.07 44 9.90 36 1.85 122 10.00 |AW| 30 49.6  |AW([ 37

133 Erc] FL NIVh 2 E:e 6.9 AWE 3 10.99 17 1177 5 2.06 31 10.73 [AW]| 5 455 |AW[ b

134 [ESpaNs] R e 2 = 7.3 AW[ 21 9.63 60 8.51 71 178 144 10.55 |AW| 10 484  |AW| 22

135 E4of | if/A eSS 2 = 75 AW| 38 9.74 54 6.43 152 1.73 154 9.74 |AW| 45 492 |AW| 33

136 Erc] H5E BT 1 = 6.6 AWl 1 9.74 54 9.20 51 2.00 44 10.69 |AW[ 8 431 |AW[ 1

137 E45 @ 5 (ES 1 = 8.2 AW|[ 116 9.84 52 9.53 42 1.67 173 8.60 |AW| 134 595 [AW| 124

138 7K R #A 2 s 6.9 AW 3 10.05 45 10.50 20 2.10 15 10.30 |AW| 16

139 Hizk Fili ESi) 2 =4 7.0 AW| 7 7.40 144 7.00 130 2.10 15 9.45 |AW| 66

140 H7k TiHH it 2 s 7.1 AW| 9 8.70 93 7.80 95 2.27 5 9.61 |AW| 53

141 7K BH 52 2 s 7.1 AW| 9 8.90 90 8.05 90 2.10 15 9.45 |AW| 66

142 7K e HaE 1 s 7.6 AW|[ 53 6.50 172 7.50 108 1.95 83 9.40 |AW| 69

143 7K HE BAE 1 s 8.1 AW| 107 7.40 144 8.40 76 1.90 101 8.40 |AW| 146

144 Hizk KE #F 1 E:q 7.4 AW| 27 6.72 167 6.52 149 2.05 32 9.60 |AW| 54

145 7K LLEe LR 1 s 8.3 AW|[ 126 6.35 176 6.37 155 1.80 131 8.55 |AW| 139

146 KNA =R LD 1 s 7.6 53 10.60 23 11.10 14 2.00 44 9.90 34 52.9 84

147 KNA HATT ES 1 = 13.40 1 12.70 - 1.95 83 177




148 KNA R e 1 = 8.1 107 9.10 76 8.90 60 1.75 146 9.00 102 53.9 92

149 KNA " B 1 = 9.1 158 7.40 144 6.85 138 1.70 158 8.88 114 61.6 127

150 RE THE G 2 = 8.2 116 8.19 113 6.25 160 175 146 9.28 T 57.7 120 4.00 66
151 2P EH 2 2 e 8.4 135 6.19 180 5.49 175 1.66 174 8.33 153 59.2 122 4.35 96
152 E5 EH DER 2 e 8.2 116 10.00 46 9.20 51 1.90 101 9.60 54

153 E5 SH ®Th 2 e 7.8 78 9.90 48 9.50 43 2.10 15 9.85 38 517 [AW| 66 3.44  [AW[ 40
154 E5 AN BLE 2 e 8.3 126 9.00 80 7.00 130 1.90 101 9.10 92 54.4  [AW[ 99 420 |AW| 90
155 E5 A BE 2 e 7.2 14 10.30 31 11.00 16 2.10 15 9.30 73 51.0 [AW| 56

156 E5 Fxil [y:s 2 e 8.1 107 10.10 41 9.40 46 2.00 44 9.10 92 56.2 [AW[ 111

157 E5 P £ 2 e 7.6 53 8.50 102 7.40 114 1.90 101 8.40 146 53.9 [AW| 92 4.07  |AW| 79
158 E5 Y-y LES 2 e 7.8 78 10.20 35 11.00 16 2.00 44 10.60 9 535 [AW| 88 411 |AwW| 82
159 E5 B e 2 e 7.5 38 9.50 64 10.00 32 2.30 2 9.47 64 483 |AW| 20 312 [AW[ 2

160 B IFNE FIR 2 = 8.6 145 10.00 46 9.60 41 2.00 44 9.10 92 535 [AW| 88

161 E5 b S 2 = .7 71 9.90 48 8.90 60 2.30 2 8.80 122

162 E5 ARL | TYW 2 = 8.4 135 8.50 102 9.00 57 2.00 44 8.70 128 54.4  [AW[ 99

163 E5 Tk HOE 1 = 8.5 141 7.60 135 7.80 95 1.90 101 9.10 92

164 E5 HEH & 1 = 8.6 145 7.30 151 7.70 101 2.00 44 8.50 142 55.2  |AW[ 106 430 |AW| 95
165 E5 NG EF] 1 = 8.8 153 6.00 182 5.00 184 1.50 187 7.40 176 629 |AW| 129

166 En = e 1 = 8.7 151 8.20 111 6.10 165 1.90 101 8.60 134 63.9 |AW| 130 5.08 |AwW| 103
167 E5 iyl 2 1 = 7.9 89 9.00 80 8.50 72 2.10 15 9.70 47 511 [AW| 57 353 |Aw| 61
168 E5 il TR 1 = 7.9 89 8.00 120 6.40 153 1.80 131 8.40 146 52.7 |AW| 82 455 |AW| 102
169 =5 h & 3 1 ES 8.2 116 7.40 144 6.70 143 2.00 44 9.00 102 521 |Aw| 77 411 |AwW| 82
170 =5 B pZ 1 ES 7.8 78 7.50 137 6.30 157 1.90 101 8.80 122 516 |AW| 64 3.46  |AW| 44
171 JIINE 2 BR 2 ES 9.00 80 8.30 T 1.65 176 9.31 72 51.8 |AW| 68 4.43 98
172 JIINE R BLTE 2 ES 190 188 2.00 44 9.44 68

173 JIINE JIIR mnE 2 ES 11.10 11 11.70 7 2.00 44 10.75 4 484 |AW| 22 3.44 40
174 JIINE T #4 2 = 11.50 6 12.35 4 2.00 44 10.70 7 539 |AW| 92 4.50 100
175 JIINE R Eea: 2 ES 11.00 14 9.80 39 1.80 131 9.10 92 476 |AW| 12

176 JIIAFE BA o2HhE 2 = 10.15 39 10.30 27 1.82 129 9.00 102 539 |AW| 92 4.12 84
177 JIINE NE WA 2 ES 9.20 71 8.15 82 171 156 8.90 110 4.27 91
178 JIINE [N Thik 2 z 8.60 97 6.80 139 1.66 174 9.18 89 480 |AW| 16 3.25 12
179 JIINE fzidas] LEN 2 z 8.60 97 9.10 55 2.00 44 9.02 101 50.0 |AW| 42 3.42 37
180 JIINE KEF FE 2 z 11.05 13 10.40 26 1.85 122 9.07 100 50.3 |AW| 50 4.50 100
181 JIINE FR ELS 1 z 6.60 169 6.30 157 1.60 182 7.47 175 60.0 |AW| 126 4.27 91
182 JIINE B EE 1 z 9.40 65 8.20 81 2.00 44 9.80 40 504 |AW| 51

183 JIINE A lES 1 z 10.10 41 8.70 68 2.00 44 10.00 30 50.1 |AwW| 45

184 JIINE B i WAIE 1 z 7.70 131 6.30 157 1.70 158 8.85 120 541 |AW| 97 3.56 62
185 JIINE ik HWD 1 z 9.20 71 7.50 108 2.00 44 9.90 34 499 |AW| 39

186 JIINE HIH IES 1 z 6.90 160 6.70 143 1.80 131 8.30 154 57.7 |AW| 120 4.10 81

187 JIINFE Bl e 1 = 9.00 80 8.15 82 1.70 158 9.20 84 499 |AW| 39 331 19
188 JIINFE RE BmE 1 = 6.70 168 7.10 129 1.70 158 8.20 158 57.2 |AW| 119

189 JIWE | KMEE B 1 = 9.60 61 7.80 95 1.95 83 9.35 71 55.7 |AW| 109 3.50 57
190 EBER 7T %A 2 = 6.8 2 11.20 9 11.20 13 2.10 15 10.10 22 485 24

191 BER NS TFiE 2 = 75 38 11.70 4 11.50 9 2.00 44 9.73 46

192 BER BE izt 2 = 8.3 126 9.35 69 9.20 51 1.80 131 9.20 84

193 BER 9H "R 2 = 6.9 B 11.00 14 11.25 12 2.15 11 11.00 1 475 11

194 EBER et 2 1 = .7 71 190 188 192 177

195 BER | #ER BIE 1 = 7.1 9 11.00 14 11.00 16 2.00 44 10.10 22 50.2 48

196 BER R B 2 = 7.1 9 10.85 19 10.70 19 2.10 15 10.40 14 485 24

197 =E% =% WE 2 = 11.47 8 12.77 2 2.47 1 177

198 =E% i LES 2 = 7.3 21 10.68 22 11.64 8 2.20 7 10.55 10

199 =E% i HE 2 = 8.1 107 10.55 24 11.40 10 2.02 42 9.28 7 534 |AW| 87 4.28 93

200 =E% 2l 2 2 = 8.4 135 9.60 61 8.78 67 1.90 101 177 53.3 86 3.29 18

201 =E% i HH 2 = 9.75 53 8.90 60 1.92 94 177

202 =E% AL Bl EE 2 = 9.00 80 9.00 57 1.88 118 177

203 =E% B T7E 1 = 8.1 107 7.20 152 6.75 141 1.90 101 177

204 =E% JIE ES 1 = 7.5 38 9.40 65 9.15 54 2.00 44 9.65 51 48.1  |AW([ 17 3.39 30

205 =R B EZ 1 = 7.8 78 8.30 109 8.50 72 2.05 32 10.71 6 485 |AW| 24 3.49 53

206 wEEH FE wE 1 = 8.5 141 6.40 175 5.43 178 1.80 131 177 54.7 101 3.28 15




S$EBA4ERCT 50m HF

No. IR 45 2E | FE| 45 50m AW | JE i No. i 2T B e 50m AW | B i
1 B BH s 2| &8 6.0 AW 1 1 B =B BHT 1| % 6.6 AW 1
2 BREI F R 3| &8 6.1 AW 2 2 ERHE MWIT ESS 2 | & 6.8 2
3 i i ) 3| B 6.1 AW 2 3 B HE NILA 2 | & 6.9 AW 3
4 Hk EES EFN 3| B 6.1 AW 2 4 L 11 RE 2 | & 6.9 AW 3
5 BERE) | #FO & 3| B 6.1 AW 2 5 Hi7k F &R 2 | & 6.9 AW 3
6 i LA B+ 1| 8 6.2 AW 6 BEE ) Hok 2 | & 6.9 3
7 o Es|  JTH #A 3 L] 6.2 AW 7 &1 JEH FHE 1 = 7.0 AW
8 BERE) | KWNHA 23 3| &8 6.2 AW 8 Hi7k Fil S P EES 7.0 AW
9 EHF | EELE RN 2 5 6.2 AW 9 = JIIEA hoE 2 x 7.1
10 45 RTT R 3| 8 6.2 AW 10 Hk T [tk P EES 7.1 AW
11 = | Rk EFN 2| B 6.2 AW 11 Hk BH 5% S 7.1 AW
12 scc BiE R 2 | B 6.3 AW 12 12 BEE K B P EES 7.1
13 B AT il 2 | B 6.3 AW 12 13 EEHE | #ER 23 1| % 7.1
14 Ena ARl S 3| B 6.3 12 14 F=AWL A WpE | 2 | & 7.2 14
15 Hk R HE 2 | B 6.3 AW 12 15 I EA alis G P EES 7.2 AW 14
16 Hk EE B3 2 | B 6.3 AW 12 16 NmdE | $BRE Thik P EES 7.2 AW 14
17 BEH izl [N 3| 8 6.3 12 17 EEe B HE P EES 7.2 14
18 k) )11 EIN 2 | B 6.4 18 18 I EA I HhH 2 | & 7.2 AW 14
19 RS MR FAREA 3 2 6.4 AW 18 19 v eR| HEF B 2 S 7.2 AW 14
20 BERE a% EF P E] 6.4 18 20 scc il BAE 1| % 7.2 AW 14
21 ERE)| ZH A 1| 8 6.5 AW 21 21 EbeE] L x 2 | % 73 AW 21
22 E ESS & 1| 8 6.5 AW 21 22 e A =) P EES 73 21
23 E HE N 2 | = 6.5 AW 21 23 BREI | WK HhE 3| % 73 AW 21
24 SR iz Ak 2 | B 6.5 21 24 45 B F578 1| % 73 AW 21
25 BEH AL Bk 2 | B 6.5 21 25 =2 T P P EES 73 AW 21
26 I KE [IN 3| 8 6.6 26 26 BEH i CES P EES 73 21
27 FHAL 55 BE 2 | B 6.6 27 27 PR KE Bl 3| % 7.4 AW 27
28 £ T 7t 1| 8 6.6 28 28 PR BRE B P EES 7.4 AW 27
29 SIS 7l 2% 2 | B 6.6 AW 28 29 EbaN] £ R 2 | & 7.4 AW 27
30 BEH i) m] Ed=5- 1 5 6.6 28 30 JIIAIE HE £ 1 s 7.4 AW 27
31 HAL =l BE 2| B 6.6 31 31 NAAe T4 ¥ 2 | & 7.4 AW 27
32 SR LA Bt 2 | B 6.7 32 32 NAAe =R g3 1| % 7.4 AW 27
33 ] #0 BBA 2| B 6.7 32 33 Epa3 ES 1 LE 1| % 7.4 AW 27
34 NI i ek 2 | B 6.7 AW 32 34 g2 | BFE B 1| % 7.4 AW 27
35 Hizk SH B 1 C 6.7 AW 32 35 Ak KIE FF 1| % 7.4 AW 27
36 NI R g 1 C 6.7 AW 32 36 RIR KiE MEt 1| % 7.4 27
37 scc BiE RA 1 C 6.7 AW 32 37 = BES 3 2 | & 7.4 37
38 BEY A RE 2 | B 6.7 32 38 RIR B B4 1| % 75 38
39 =AW ETT A 3 5 6.8 39 39 E35 Al F%iE 1 = 7.5 38
40 AL AT PN 2 | B 6.8 40 40 PR #x HH 3| % 75 AW 38
41 AL 8 BE 2 | 5 6.8 40 41 e Bk % 2| & 75 38
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126 e A 2 5 2.05 121 126 R JEY) HE 2 ES 1.85 122
127 =R At 1 £ 2.05 121 127 NI B LE] 2 ES 1.85 122
128 B2 e 1 5 2.03 128 128 ] #h i 2 ES 1.84 128
129 scc REE 2 1 £ 2.02 129 129 NI AR 2hE 2 ES 1.82 129
130 B2 =R HEX 1 5 2.02 129 130 &l &5 B 1 ES 1.82 129
131 E5 =2 hz= 1 5 2.00 131 131 Al 1A HLF 1 ES 1.80 131
132 I B A 2 5 2.00 131 132 Hk IRz iR 1 ES 1.80 131
133 Il BF 5 2 5 2.00 131 133 NIRdE i HE 1 = 1.80 131
134 I BT HE 2 5 2.00 131 134 NI R RAE 2 = 1.80 131
135 Il il 7 1 5 2.00 131 135 NIRdE ES L 2 = 1.80 131
136 &5 R ffen 2 5 2.00 131 136 E A BT D 2 = 1.80 131
137 &5 Jes Eei) 2 5 2.00 131 137 KR a1 2 1 = 1.80 131
138 ) AR A 1 5 2.00 131 138 E i 2¥ 1 = 1.80 131
139 35 L P 1 5 2.00 131 139 357 HH i 1 = 1.80 131
140 &F Fhleg R’ 1 5 2.00 131 140 [Ea) ) FERE 1 = 1.80 131
141 X LT EE 1 5 2.00 131 141 =R g e 1 = 1.80 131
142 X SRIRF 7 1 5 2.00 131 142 NI i S 1 = 1.80 131
143 BEH HA 1ans 1 E:] 2.00 131 143 BEE BH st 2 ES 1.80 131
144 BEH =HE B 1 E:] 2.00 131 144 iR EA [ 2 ES 1.78 144
145 &2 % A 1 E:] 1.98 145 145 skl B e 1 ES 1.76 145
146 EJ5 AR =& 2 E:] 1.95 146 146 &S it BT 2 ES 1.75 146
147 JIIAEe RIE ik 1 E:] 1.95 146 147 f= DL 23 1 ES 1.75 146
148 Al 25 RE 2 E:] 1.95 146 148 KA R CES 1 ES 1.75 146
149 PR &} EZN 1 E:] 1.95 146 149 E RE %A 1 ES 1.75 146
150 EJ5 KA #E 1 E:] 1.95 146 150 E JIIE hoE 2 ES 1.75 146
151 PR — RiE 2 E:] 1.95 146 151 REF TE HE 2 ES 1.75 146
152 EAP MR fEX 2 E:] 1.95 146 152 £ wH e 1 ES 1.75 146
153 Al I il 2 E] 1.95 146 153 il g —% 1 ES 1.74 153
164 35 & IRAER 1 E] 1.95 146 154 E5 IA1E Ex 2 ES 1.73 154
155 EX) A1 et 1 E] 1.95 146 155 BRBI Hil HILA 2 ES 1.72 155
156 SR I A5 1 5 1.95 146 156 BRBI ik = 1 ES 1.71 156
157 &5 i Ead 1 5 1.90 157 157 IR 1IEF i 2 ES 1.71 156
158 JIINFE FE RE 2 5 1.90 157 158 KNA 23 &7 1 ES 1.70 158
159 JIINFE BE 3} 1 5 1.90 157 159 KR a5 HE 2 ES 1.70 158
160 JINFE hE ESS 1 5 1.90 157 160 JPsde &} i 1 ES 1.70 158
161 BEE T Hak 1 5 1.90 157 161 KR g HEk 1 ES 1.70 158
162 Al =R =% 1 ] 1.90 157 162 KR AEF BRIt 1 = 1.70 158
163 JIIAEe IR B 1 E:] 1.90 157 163 NIAAE HE 4 1 Z 1.70 158




164 35 T 2 E:] 1.90 157 164 KR f(va aES 2 = 1.70 158
165 EAF TR 1 E:] 1.90 157 165 KR AEF Bt 1 = 1.70 158
166 B R 2 E:] 1.90 157 166 458 #HH S 1 S 1.70 158
167 pad TR 1 E:] 1.90 157 167 EXT R FRIBHEK 2 S 1.70 158
168 BEH B/ Lk 1 5 1.90 157 168 KR BEH B4 1 ke 1.70 158
169 JINFE Bt 2 5 1.85 169 169 JINE =[] WA 1 ke 1.70 158
170 BE =R 1 E:] 1.85 169 170 JINE Bl e 1 kS 1.70 158
171 (243 i 2 E:] 1.85 169 171 JINE KE wE 1 ke 1.70 158
172 RE =K 2 5 1.84 172 172 BREI 2H FE 2 ES 1.68 172
173 B =8 2 E:] 1.80 173 173 E 5 A thE 1 ES 1.67 173
174 AL xis 2 5 1.80 173 174 KEF (G = 2 X 1.66 174
175 BEH ] 1 5 1.76 175 175 JINE LA Thitk 2 ke 1.66 174
176 JIIAde TE 1 E:] 1.70 176 176 KR S&il D 1 ke 1.65 176
177 IR G 2 3 1.70 176 177 KR ’IR BAL 2 ES 1.65 176
178 JIIAde ALl 1 5 1.70 176 178 NIAE i FR 2 ks 1.65 176
179 ok 55 1 3 1.70 176 179 KR S&il D& 1 = 1.65 176
180 X 2T 1 E:] 1.65 180 180 Eal AR =5 2 = 1.65 176
181 35 RE 2 5 1.60 181 181 BREI &5 LDOH 1 Es 1.64 181
182 IR 2R 1 3 1.50 182 182 EANF B/E 75 1 ks 1.60 182
183 RS 125 1 3 1.50 182 183 NIAE R B3 1 Es 1.60 182
184 35 BIE 1 E 1.40 184 184 KR BT B 1 Es 1.55 184
185 455 R RE 1 5 1.20 185 185 KR LT K& 1 Es 1.55 184
186 186 FEal iz B4 2 = 1.55 184
187 187 &5 HNE) EH] 1 ks 1.50 187
188 188 E3 £ BRI 1 ks 1.40 188
189 189 RE BHLE 1 = 1.40 188
190 190 2l IR 1 = 1.40 188
191 191 354 N HOH 1 = 1.30 191




SEAERCT ZHREN XF

No. B 45 281 | BE| MR | AR | AW| JE I
1 i R #H 3| B 13.63 AW 1
2 H=HAL XE 1EA 3| &8 13.60 2
3 BERE)| #FO 5 3| &8 13.17 AW 3
4 B BH e 2| &8 13.05 AW

5 scc BiFE R 2| &8 13.02 AW

6 BER#E a% ¥ 2| &8 13.00

7 7k EES S 3| B 12.90 AW

8 vk se|  JTH %A 3| &8 12.88 AW

9 BRE)N| KB 'ig 3| &8 12.86 AW

10 HAWL AT ESPN 2 | B 12.85

11 AW HTT £ 3| 8 12.78 11
12 B AT il 2 | B 12.74 AW 12
13 B¥ ARl 2 3| B 12.60 13
14 BEREI F [ 3| 8 12.58 AW 14
15 AW E) iy 2 | B 12.40 15
16 BEEH &H [N 3| 8 12.30 16
17 BERE)| 5 Ed 2 | B 12.27 AW 17
18 HAWL 55 BE 2 | B 12.10 18
19 BEH A K& 2 | B 11.92 19
20 ok RE& e 2 | B 11.90 AW 20
21 =2l | Rk EXS 2 | B 11.86 21
22 SIS IRTT R 3| B 11.82 AW 22
23 KINA L] [E2s 3| B 11.70 23
24 AL BRER BN 2 | B 11.70 23
25 AW 2T = 3| B 11.70 23
26 BEH 2R PN 2 | B 11.70 23
27 E5 HE N 2 | B 11.67 AW 27
28 sce ] ZN 1| 8 11.64 AW 28
29 BEH il]s] S 1| 8 11.55 29
30 AL AR (2 2 | B 11.50 30
31 = JiN]:=:| B+ 1 C 11.48 AW 31
32 ] #0 BBA 2 | B 11.47 32
33 BEH M fiEst 2| B 11.47 32
34 BEH FIR w—E | 2 | B 11.41 34
35 AL @K = 1 C 11.40 35
36 AL 8 fEE) 2 | B 11.40 35
37 JIAdE % 7 2| B 11.37 AW 37
38 E5E FHE & 1 C 11.35 AW 38
39 £ AR JIE L= 2 | B 11.33 39
40 EpE | ®ELF| RN 2| B 11.31 AW ([ 40
41 B FH 7t 1| B8 11.30 41
42 AL HE &R 2| B 11.30 41
43 ik LE LS 2| B 11.30 Aw| 41
44 JIIAE LR HEW 2| B 11.30 41
45 BERE)| MWE FAARER 3| 8 11.28 AW ([ 45
46 KR ) i 2| B 11.25 46
47 NIAE =K st 1| B8 11.22 Aw| 47
48 ik SHF B 1| B8 11.20 AW ([ 48
49 =45 PR [iZi3 1| B8 11.20 48
50 BEE | 2R # 1| B8 11.20 48
51 B sl A8 3| B 11.18 AW 51
52 BERE) | AMNA B 3| B 11.17 AW 52
53 IR #H Eip 2 | B 11.15 53
54 22 | AcE f@1E 1| B8 11.10 54
55 pai itH BN 3| B 11.09 AW 55
56 AW (AT HE 2 | B 11.05 56
57 AW BR = 1| B 11.00 57
58 JIINE KA BH 2 | B 11.00 57
59 BER A1 HHEE 1| B8 11.00 57
60 BER At A 1| B8 11.00 57
61 PR e e 2| B 10.95 61
62 EAF NI B 1| B8 10.90 62
63 =4 A= BE 2| B 10.85 63
64 mREH j2=]m| 1259 1| B8 10.85 63
65 scc 4 23} 1| 3 10.80 AW 65
66 FEHIR G 55 1| B8 10.80 65
67 % i ik 2| B 10.80 65
68 B RE J2 4 2| B 10.75 68
69 EANR | AT Ere 2| B 10.73 69
70 AL [ifny KE 2 | B 10.70 70
71 f3-] [ifny )gE 2| B 10.64 AW 71
72 B2 SE g 2 | =B 10.60 72
73 sce REE 12 1| B 10.60 AW 72
74 F=AL Bk WE 1| B8 10.60 72
75 Eapo) hE iR 2| B 10.50 75
76 I BT T 2| B 10.50 75
77 lisEl il B 2 ] 10.46 AW 77
78 lisEl m IRAEA 1 ] 10.45 AW 78
79 BE® A [ 1| B8 10.45 78

No. B 2T T | PE | MR | LA AW | JE
1 BEE ) 2 | & 11.00 1
2 T sE| HET 2 ko 10.98 | AW 2
3 BERE)| &H 3| % 10.93 | AW 3
4 NIRE JIR 2 | & 10.75
5 E5 HE 2 | & 10.73 | AW
6 BEH il 1| % 10.71
7 NIRE T 2 | & 10.70
8 E5 =B 1| % 10.69 | AW
9 B =8 2 | & 10.60
10 48 P 2 | & 10.55 | AW
11 BEH 2P 2 | & 10.55
12 el 1A 2 | & 10.50 12
13 FAW A Heq 2 | & 10.50 12
14 BRE K B8 2 | & 10.40 14
15 BERE)| WZ EX4 2 | & 10.37 | AW 15
16 FAW il ALy 3| % 10.30 16
17 ok W &R 2 | & 10.30 | AW 16
18 =AW A WPpE | 2 | & 10.30 16
19 FERER XE FiE 3| % 10.30 16
20 o JIIE e 2 | % 10.25 20
21 B hIR Ty 1| % 10.20 21
22 BRE) | WK HhE 3| % 10.10 | AW 22
23 I EA I HhH P EES 10.10 | AW 22
24 BRE T %A 2 | % 10.10 22
25 BEXR | #EH (223 1| % 10.10 22
26 Epa3 i 15 1| % 10.07 26
27 BRE) | R E 2 | & 10.05 | AW 27
28 SN 0 WEE 1| % 10.05 27
29 Epa3 T AR 2 | & 10.01 29
30 A IR BE 2 | & 10.00 30
31 e EY) R 2 | & 10.00 | AW 30
32 NN JER S 1| % 10.00 30
33 =9 JFH 3 1 = 9.96 33
34 KNA 2R - 1 s 9.90 34
35 NN ik HND 1| % 9.90 34
36 I EA KR & 1| % 9.88 | AW 36
37 sce il HAE 1| % 9.87 | AW 37
38 EPe S ¥ 2 | & 9.85 38
39 A bRES e 2| & 9.85 38
40 IR KiE MEt 1| % 9.80 40
41 IR FHtesn E 1| % 9.80 40
42 18 )11 RE 2 | & 9.80 | AW 40
43 NN Bz = 1| % 9.80 40
44 NIARAE s 1 s 9.78 AW 44
45 Eo® | ZAE 2| & 9.74 | AW 45
46 BERE IV 2 | & 9.73 46
47 IR A% 1| % 9.70 47
48 EF =]} 1| % 9.70 47
49 IR N 1 = 9.70 47
50 [Espy el 2 1 = 9.70 47
51 E=LE K Cl=] 1 = 9.65 AW 51
52 =EH JIE Stk 1 = 9.65 51
53 Hok THEH e 2 s 9.61 AW 53
54 [Espy ZEH DE 2 = 9.60 54
55 JIIRAE BRE Thi& 2 = 9.60 AW 54
56 HiZk KE FF 1 = 9.60 AW 54
57 PR gl =i 3 s 9.60 54
58 AL AT D 1 = 9.60 54
59 BREI HE F5 1 = 9.59 AW 59
60 ScC # 2 2 = 9.55 AW 60
61 £ Bk % 2 = 9.55 60
62 JIIRAE =R g3 1| % 9.54 | AW 62
63 SRR pIN} E=E 1 = 9.50 63
64 [Espy B 53 2 s 9.47 64
65 =’ ES 1 DE 1 s 9.46 65
66 Hok BH f5E 2 s 9.45 AW 66
67 HiZk R RE 2 s 9.45 AW 66
68 JINE R BAT 2 s 9.44 68
69 Hk e HEE 1 = 9.40 AW 69
70 =l BR HE 2 = 9.40 69
71 NIWFE | AMEE E=1 1 S 9.35 71
72 IR HEFR EES 2 | & 9.31 72
73 E5 fSZN BE 2 = 9.30 73
74 #R HEH H*E 2 = 9.30 73
75 =l /INRTT <Bon 1 £ 9.30 73
76 | # b e 2 £ 9.29 76
77 NIAAE chfi i 2 = 9.28 | AW 77
78 ENF A Ed 2 = 9.28 7
79 HE TE HHE 2 =S 9.28 7




80 S mE R 2 E:] 10.40 80
81 35 DLl BA 1 E:] 10.40 80
82 Al I il 2 E:] 10.40 80
83 &5 )11 £ 2 E:] 10.40 80
84 B fardi g 2 3 10.40 80
85 JIRFE T HEW 2 E:] 10.40 80
86 BE AR Bt 2 E:] 10.35 86
87 JIAde HRE At 1 E:] 10.30 AW 87
88 Al 25 RE 2 3 10.30 87
89 JIRFE 7B b 1 E:] 10.30 87
90 it et fift 1 E:] 10.27 AW 90
91 ™ T K 2 E:] 10.22 91
92 35, R i 1 E:] 10.20 92
93 e ZEH 2t 2 3 10.20 92
94 JINFE 2k N 2 3 10.20 92
95 KE g s 2 3 10.15 95
96 ¥ JNE # 1 E:] 10.15 95
97 EAH FRoK =1 2 3 10.15 95
98 e e 1 2 3 10.10 98
99 e R 12 1 3 10.10 98
100 BEE FRA 2 1 E:] 10.10 98
101 RS BH BEX 1 3 10.05 AW 101
102 = JIH A5 1 3 10.04 102
103 B2 N i 2 E: 10.00 103
104 F=AWL LT Ea 1 E:] 10.00 103
105 e TR =4 1 E:] 10.00 103
106 JIIE S s 2 E:] 10.00 103
107 JIIE FE RE 2 E:] 10.00 103
108 i GES 1) 2 E:] 9.94 108
109 KNA NE AA 1 E:] 9.90 109
110 IR —i 218 2 E:] 9.90 109
111 e E 34 HE 1 E:] 9.90 109
112 BRI e R 2 E:] 9.88 AW 112
113 B2 FH i 1 E:] 9.88 112
114 g 7)ll 28 2 3 9.86 AW 114
115 PR FRE A 1 3 9.85 115
116 ENG FRIK B 1 E:] 9.85 115
117 i R 34 2 3 9.81 117
118 ) AR KA 1 3 9.80 118
119 B A 3 2 3 9.80 118
120 BE IR ® 2 3 9.75 120
121 IR HR Bt 2 3 9.75 120
122 BRBI HT AT 1 3 9.74 AW 122
123 EJA AT £ 2 5 9.70 123
124 3 LT AR 1 5 9.70 123
125 =AWl KB s 2 5 9.70 123
126 =AWl S RIRT 7 1 5 9.70 123
127 g /R nE 2 5 9.67 AW 127
128 =2 = HRE 2 5 9.65 128
129 EJG AR £ 2 5 9.60 129
130 =AWl g} BA 2 5 9.60 129
131 EJG & IRAEB 1 5 9.60 129
132 JIIE = R— 2 5 9.55 132
133 i i A 1 5 9.54 133
134 BRSIr —H R 1 5 9.53 AW 134
135 ) = R KR 1 5 9.50 135
136 il ToxH 3] 1 5 9.40 AW 136
137 i =R R 1 5 9.40 AW 136
138 Ela =k i) 1 5 9.40 136
139 Ela JI1 g RE 1 5 9.40 136
140 f P — i 1 5 9.35 AW 140
141 ) B J2 i 1 5 9.25 141
142 il = I EH 2 5 9.23 AW 142
143 f R B 1 E:] 9.23 AW 142
144 ANA =R S2IE 3 E:] 9.20 144
145 Fhleg ®” 1 E:] 9.20 144
146 A — 1 E:] 9.20 144
147 &} EZN 1 E:] 9.15 147
148 HIE = 1 5 9.10 148
149 JIIWEe =% ER 1 E:] 9.10 AW 148
150 Ela HR SR 1 E:] 9.10 148
151 BER T it 1 E:] 9.10 148
152 BEY B =R 1 E:] 8.98 152
153 A HIEH 2+ 2 E] 8.96 153
164 RE =K ®” 2 E] 8.93 154
155 ESa =18 223} 2 5 8.90 155
156 ESa Rl R 1 5 8.90 155
157 JIIRFE hE ESS 1 5 8.90 155
158 & R FHin 1 5 8.84 AW 158
159 7K a5 RN 1 5 8.80 AW 159
160 lisEl R ik 1 5 8.78 AW 160
161 Al =M =% 1 5 8.75 161
162 FERR FE hER 2 5 8.75 161
163 JIIWEe IR B 1 E:] 8.70 AW 163

80 BEH il wE 2| & 9.28 77
81 151 Rt HE 1| % 9.25 | AW 81
82 NG U ES P ES 9.25 81
83 1514 it FEE 1| % 9.23 | AW 83
84 i P ¥A 2 | & 9.20 84
85 PR L i 1| % 9.20 84
86 HA EES ®E 2 | & 9.20 84
87 JIPFE Bl E 1| % 9.20 84
88 BER BH B 2 ke 9.20 84
89 =15 JRHE FE 1| % 9.18 | AW 89
90 Ik £ B 2 | & 9.18 | AW 89
91 JIPFE il Tk 2 | & 9.18 89
92 BT il (e 1| % 9.10 92
93 F=A 1A HL) 1| % 9.10 92
94 NIRE R 4l | 2 | & 9.10 92
95 ARl oy 2 | & 9.10 92
96 KR B|aE | 2 | & 9.10 92
97 =3¢ 25 2 | & 9.10 92
98 A FIR 2 | & 9.10 92
99 S HOE 1| % 9.10 92
100 NIRE EF LE] P EES 9.07 100
101 JIPRFE 232 B 2 | & 9.02 101
102 pllle R e 1| % 9.00 102
103 NIRE BwA oNE 2 | & 9.00 102
104 Tk T4 £ 2 | % 9.00 |[AwW| 102
105 Epa3 K EES 2 | & 9.00 102
106 EEENIN] = EES 2 | & 9.00 102
107 5 it BT 2 | % 9.00 |[AwW| 102
108 EEENIN] 524 EE) 1| % 9.00 102
109 EEa) b= 23 1| % 9.00 102
110 EESG BT EES 1| % 8.90 110
111 ] 524 2 1| % 8.90 110
112 EEESES #x HH 3| % 8.90 110
113 NI LD B 2 | & 8.90 110
114 KINA 28 BF 1| % 8.88 114
115 I EA i EEX | 2 | & 887 |[AwW| 115
116 il [ RE 2 | & 8.87 115
117 I EA =N £ 1| % 886 |AwW| 117
118 il e HE 2 | & 8.86 117
119 ] & [CES 2 | & 8.86 117
120 NN =10 WAl 1| % 8.85 120
121 I EA ] Hh3E 1| % 882 |[Aw| 121
122 EPe =S At 1| % 8.80 122
123 A AR sk | 2 | & 8.80 122
124 35 #HE 2 1| % 8.80 122
125 BB ok A 2| & 8.80 122
126 215 DRE 7 1| % 879 |[AwW| 126
127 IR BT i 1| % 8.75 127
128 215 e IE 1| % 870 |[Aw| 128
129 KIR RIR B4 2 | & 8.70 128
130 E5 AR | FYn 2 | & 8.70 128
131 JEl EXE 1| % 869 |[AwW| 131
132 = 1D H 1| % 864 |[AW| 132
133 = EY 2 | & 861 | AW| 133
134 a5 %5 1| % 860 |AW| 134
135 &3 #H5 2 | & 8.60 134
136 hE =] 1| % 8.60 134
137 £l &k 1| % 8.60 134
138 5 BE 1| % 857 | AW| 138
139 # ESl 2 | & 8.55 139
140 Hp HRE 1| % 8.55 139
141 Hizk il E(%-) 1| % 855 | AW| 139
142 Ik Rk 1| % 850 [Aw| 142
143 2] L] 2 | & 8.50 142
144 [ESPo) EEO 1| % 8.50 142
145 BERS)| WA 2 | & 8.48 | AW| 145
146 ok #RE 1| % 8.40 | AW| 146
147 +H 1| % 8.40 146
148 At 2 | & 8.40 146
149 EFH B4 1| % 8.40 146
150 &t WERE | 1 | & 8.40 146
151 KR T KE 1| % 8.35 151
152 JIIRAE F4B HhE 1| % 835 | AW| 151
153 HEF [ = 2 | & 8.33 153
154 S5 AR %A 2 = 8.30 154
155 IR i [IES 1| % 8.30 154
156 KR f(d e 2 | & 8.25 156
157 BRBI kel GES 1 S 8.24 | AW 157
158 KR A BT 1| % 8.20 158
159 KR A% BIAE 1| % 8.20 158
160 JIIPSFE KE wE 1| % 8.20 158
161 i) HE B 1| % 8.11 161
162 2 R %A 1| % 8.10 162
163 3] e P2 1 =S 8.08 163




164 RE B 2 5 8.50 164
165 B Bz 1 5 8.50 164
166 L3 AE 2 E:] 8.45 166
167 ALl (6 1 E:] 8.44 AW 167
168 B 23 1 3 8.40 168
169 TE % 1 E:] 8.34 AW 169
170 =T HETR 1 E:] 8.30 170
171 ER 125 E:3b 1 E:] 8.20 171
172 3 KA HE 1 5 8.20 171
173 35, s RE 1 E:] 7.50 173
174 IR 2R i 1 E:] 7.40 174
175

176

164 #a WX 2 kS 8.03 164
165 AR =i 2 ke 8.00 165
166 i EK 2 ES 7.95 166
167 A faa 2 ke 7.93 167
168 il HI 1 ES 7.85 168
169 ALl 2] 1 ke 7.85 168
170 St D& 1 ke 7.75 170
171 St D& 1 X 7.75 170
172 12l IR 1 ke 7.70 172
173 iz B4 2 x 7.70 172
174 N HOH 1 kS 7.60 174
175 KR B 1 X .47 175
176 HAFE ZH] 1 kS 7.40 176




SEA4ERCT 300m XF

No. IR 45 ZE1 | FE| MBI 300m [AW| JE I
1 i IRTT 3| &8 36.7 AW 1
2 BE%H kil 3| &8 37.7 AW 2
3 i R 3| B 38.1 AW 3
4 B BH 2| &8 38.2 AW

5 BE%H M 2| &8 38.6 AW

6 BERE) | KANHA 3| &8 38.9 AW

7 E9r | EELE 2 5 39.5 AW

8 BE®H if]s| 1| 8 39.6 AW

9 AL 55 2 5 39.8

10 BRE a% 2 | B 40.0

11 BEEH jz=]m] 1| 8 40.0 AW

12 ERE) | #FO 3| 8 40.1 AW 12
13 NI T 2 | B 40.1 AW 12
14 BE®H A 2 | B 40.2 AW 14
15 scc BiE 2 | B 40.6 AW 15
16 22 | Rtk 2 | B 40.9 AW 16
17 BRE)N| KB #/ig 3| B 41.2 AW 17
18 E5 hE s 2 | B 41.2 AW 17
19 JIIRFE RA EXd 2 | B 41.3 AW 19
20 BREI F B2 3| 8 415 AW 20
21 BEH 2R PN 2 | B 415 AW 20
22 E5 ESS % 1| 8 41.6 AW 22
23 5 =] i3 2 | B 41.6 AW 22
24 i fenz:) KA 3| 8 41.7 AW 24
25 JIIAde HE A 1| 8 41.7 AW 24
26 JIINE RE Ll 2 | B 41.7 AW 24
27 E5 AT T 2 | B 41.8 AW 27
28 E5 e N P E] 41.9 AW 28
29 5 Eldrs Hi 2 | B 42.0 AW 29
30 AL El =2 3| 8 42.2 30
31 BERE)| #WE AR 3| 8 42.3 AW 31
32 AL AT EPN 2 | B 42.4 32
33 JIAdE = il 1 C 425 AW 33
34 KA L] 2 3| 8 42.7 34
35 JIINE ik PN 2| B 42.7 AW 34
36 = PR [iZi 1 C 42.8 AW 36
37 BER | FHE REA 2| B 42.9 AW 37
38 fi JiN]:=:| Bt 1 C 42.9 AW 37
39 BF ARl BE 3| B8 42.9 37
40 AL @K i 1| B8 42.9 40
41 FRIR RA —B% 1| B8 43.0 Aaw| 41
42 sy FH 7t 1| B8 43.0 41
43 o LT Je 2| B 43.0 Aaw| 41
44 B A RS 2| B 43.1 AW| 44
45 AL ETT s 3| 8 43.1 45
46 AL E1) B 2| B 43.2 46
47 sy AR iy 2| B 43.4 47
48 AL AR 2 2| B 43.4 47
49 ERE)N| —=HE K& 1| 3 435 AW | 49
50 mREH Gl Eoy 2 | B 435 AW | 49
51 JIWHe %5 # 2 5 43.6 AW 51
52 =REH K& E R 3 5 43.6 51
53 AW KE 5IN 3| B 43.6 53
54 IR 7x 2 | B 43.9 AW 54
55 scc ] RA 1| 3 43.9 AW 54
56 E5 I Pt 1| B8 44.2 AW 56
57 pai I BE 2 | B 44.5 AW 57
58 pai Sk A8 3| = 44.6 AW 58
59 AL ARER BA 2| B 44.8 59
60 5 Rk HHE 1| B8 44.9 AW 60
61 scc REE < 1| 3 45.0 AW 61
62 EF RE J2 4 2| B 45.0 61
63 FEHIR —H RiF 2 | B 45.0 AW 61
64 =47 HE B 2 | B 45.1 AW 64
65 5 )11 EA 2| B 45.1 AW 64
66 JIIRE ER #ihs 2| B 45.1 AW 64
67 ESpoy jras BB 2 | B 45.5 AW 67
68 JIAe ] IRAER 1| B8 45.6 AW 68
69 JIRAe il P 2| B 45.6 AW 68
70 NG NI IRE 2 | B 45.6 AW 68
71 FRER =M i 2 ] 45.8 AW 71
72 =2 AE i 1 ] 45.8 AW 71
73 & 7l =S 2 ] 45.8 AW 71
74 RS H#Ht AT 1 ] 45.8 AW 71
75 Al 25 RE 2 ] 45.9 75
76 BEH A i 1 5 46.0 AW 76
77 JIAAE R ER 1 ] 46.1 AW 77
78 AL B fEE ) 2 ] 46.1 77
79 AL HE &R 2| B 46.2 79

No. B ZF ZE0 | FE| M| 300m |AW| JE I
1 E45 HE BTy 1 ke 43.1 AW 1
2 BT XE FiE 3| % 44.0 AW 2
3 kA I HhH 2 | & 44.7 AW 3
4 =15 JRHEH K 1| % 45.0 AW
5 E5 HE NVH 2 | & 455 AW
6 PR B HHL 3| % 45.9 AW
7 Ik i b P EES 46.5 AW
8 Ik £ B P EES 46.8 AW
9 BRES)| MK HhE 3| % 47.0 AW
10 el KA D 1| % 47.1
11 BRE ElE) 2 | & 475 11
12 NIPFE R S 476 AW 12
13 PRI BREB S 47.7 AW 13
14 Ik =8 1| % 47.9 AW 14
15 ol 20 1| % 48.0 15
16 NIPFE il 2 | & 48.0 AW 16
17 Epa3 R 1| % 48.1 AW 17
18 BEH Nk 1| % 48.1 AW 17
19 245 EK 1| % 48.2 AW 19
20 Tk it Y 1| % 483 AW 20
21 B B [CES 2 | & 483 AW 20
22 E9 s x P EES 48.4 AW 22
23 NI NIE ME 2 | & 48.4 AW 22
24 BERE KEF B8 P EES 485 24
25 BERE T %A 2 | % 485 24
26 BEH =i TN 1| % 485 AW 24
27 245 el RE 2 | & 48.6 AW 27
28 Tk =N Yy 1| % 48.7 AW 28
29 Epa3 T e 2 | & 48.7 AW 28
30 EXENIN A WpE | 2 | & 48.8 30
31 R MNRTT <Bn 1 s 49.0 31
32 I EA dei XT3 1| % 49.1 AW 32
33 Eof | M@ LS 2 | & 49.2 AW 33
34 A bRES [EE 2 | & 49.3 34
35 PR LA 1| % 49.3 AW 35
36 I EA ] 1| % 49.3 AW 35
37 b EY) 2 | & 49.6 AW 37
38 A EE 3| % 49.9 38
39 ESG BHE 1| % 49.9 AW 39
40 NI Eih 1| % 49.9 AW 39
41 NI Bl 1| % 49.9 AW 39
42 FAIR EI 1| % 50.0 AW 42
43 A A 2| & 50.0 42
44 NI BEE 2 | & 50.0 AW 42
45 PR EE0) 2| & 50.1 AW 45
46 SN B4 3 2| & 50.1 45
47 NI JER HER 1| % 50.1 AW 45
48 NIRAE | BRE Thik 2| & 50.2 AW 48
49 BER | #E" (303 1| % 50.2 48
50 JIFE AEF FIE 2 | & 50.3 AW 50
51 JIAHE KR = 1| % 50.4 AW 51
52 JIFE B2 fi) 1| % 50.4 AW 51
53 s 2 ¥A 2 | & 50.5 53
54 JIAHE Rk Sk 1| % 50.7 AW 54
55 AL 523 B 1| % 50.8 55
56 B 523 HE 2 | & 51.0 AW 56
57 228 | PVFE B 1| % 51.1 AW 57
58 4 BARF £z 1| % 51.1 AW 57
59 AL 1A #A 2 | & 51.1 59
60 AL IR BE S 51.1 59
61 JIIRAE F4B HhE 1| % 51.4 AW 61
62 sce L HAE 1| % 51.5 AW 62
63 s EBLL EE 1| % 51.5 62
64 AL =& mE 2 | & 51.6 64
65 5 B ¥ 1| % 51.6 AW 64
66 pads HE it 1| % 51.7 AW 66
67 5 SF ¥ 2 | & 51.7 AW 66
68 JIPSFE HEFR EES 2 | & 51.8 AW 68
69 NP wE HE 1| % 51.8 AW 68
70 NP F4B t% 2 | & 51.8 AW 68
71 = +5E BE 1| % 51.8 AW 68
72 E] 1A FL3 1 = 51.9 72
73 PR FLE W 2 | & 51.9 AW 73
74 =2 [ig] B3 1| % 51.9 AW 73
75 E¥ R 7y 1| % 51.9 73
76 Ik Bi5 EEX | 2 | % 52.0 AW 76
77 e L] LS 1 S 52.1 AW 77
78 BREI 2 BNl 1 S 52.2 AW 78
79 5 =] HE 1| % 52.2 78




80 &5 = 1 E:] 46.3 AW 80
81 EANF g 2 E:] 46.4 AW 81
82 s = 1 5 46.5 AW 82
83 = ilny 1 E:] 46.5 82
84 e &) 1 3 46.6 AW 84
85 LN FRoK 2 E:] 46.8 AW 85
86 Al [ 2 5 47.1 86
87 Al BR 1 5 47.2 87
88 it ER 1 3 47.2 AW 87
89 B A 2 E:] 47.3 AW 89
90 JIRFE Bt 2 E:] 47.3 AW 89
91 BE FRA 1 E:] 47.3 AW 89
92 BE JIH 1 E:] 47.3 AW 89
93 Al T 1 5 47.4 93
94 FHaL 1IN 2 3 47.5 94
95 BER fardi 1 E 47.6 95
96 RS &l (58 1 E:] 41.7 AW 96
97 FHaL T il 2 5 47.8 97
98 JINFE HE RE 2 3 47.9 AW 98
99 35 R i 1 5 48.0 99
100 BER 151 AR 1 E:] 48.0 99
101 BER i) 2IE 1 3 48.0 99
102 BEH IR B 1 3 48.0 99
103 BE 1 E: 48.2 103
104 e TR 1 5 48.4 AW 104
105 il R 1 E:] 48.6 AW 105
106 o] 2R 1 E:] 48.6 AW 105
107 F=aAL B 1 E:] 48.6 107
108 il ToxH 1 E:] 48.7 AW 108
109 B =8 2 E:] 48.8 AW 109
110 =R P 1 E:] 48.8 109
111 IR FRE A 1 E:] 49.1 AW 111
112 =R BIR I/ 2 E:] 49.1 111
113 RE g Lt 2 5 49.2 113
114 A =] HE 2 3 49.2 AW 113
115 FAWL LT KE 2 3 49.2 115
116 ) IR ® 2 3 49.9 116
117 ) AR KA 1 3 49.9 116
118 Scc B4 1 3 50.0 AW 118
119 =R PR 2 3 50.0 118
120 ENG JIIR 1 3 50.6 AW 120
121 FAWL SRIRT 7 1 3 50.8 121
122 B =2 a2z 1 3 50.9 AW 122
123 JIIE BE ) 1 5 51.1 AW 123
124 -] ESe) —i 1 5 51.3 AW 124
125 JIIRe NI e 1 5 51.4 AW 125
126 KINA NE BA 1 5 51.9 126
127 Ey a1 et 1 5 51.9 126
128 EF Fhl ® 1 5 51.9 126
129 EF 25 IRAEB 2 5 52.3 129
130 JIIRe = Y 2 5 52.4 AW 130
131 =AWl KB s 2 5 52,5 131
132 =R B/t 1% 1 5 52,5 131
133 f e Fin 1 5 52.6 AW 133
134 I HhE ESS 1 5 52.6 AW 133
135 EF JIg Ell 1 5 52.8 135
136 LN FRK Bz 1 5 53.2 AW 136
137 Al =T HEFR 1 5 54.0 137
138 RE =K ® 2 5 54.2 138
139 EF H BEK 1 5 54.3 139
140 EF AR E3} 1 5 54.6 140
141 BEY At BRA 1 5 54.9 AW 141
142 il TE % 1 5 55.8 AW 142
143 &F =] BE 2 E:] 56.0 143
144 &F iR BE 1 E:] 57.0 144
145 JIIWEe il A 1 E:] 57.3 AW 145
146 EXa =M (=i 1 E 62.4 146

80 R & % 2 kS 52.6 AW 80
81 fi] nizE D7 1 ke 52.6 AW 80
82 &5 B BB 1 ES 52.7 AW 82
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84 KA R i 1 ES 52.9 84
85 e R PRI 2 ES 53.0 85
86 BEEH IS H2 2 kS 53.3 86
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88 &5 IFIE FUES 2 ES 53.5 AW 88
89 &5 =8 L) 2 ES 53.5 AW 88
90 pi ] it BF 2 kS 53.6 AW 90
91 NIARAE ] EE 1 kS 53.7 AW 91
92 KA R B 1 kS 53.9 92
93 JIAE il iR 2 x 53.9 AW 92
94 NIAE AR 2ME 2 kS 53.9 AW 92
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98 NIAE =[] W5 IE 1 = 54.1 AW 97
99 &9 AR SRS 2 % 54.4 AW 99
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102 EN JI % FR 2 kS 54.8 AW 102
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105 BREI b s 2 ke 55.0 AW 104
106 45 AR B 2 ks 55.2 106
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108 B JIIE hoE 2 ks 55.5 108
109 NI KEE B 1 ke 55.7 AW 109
110 PR i HL 1 = 55.9 AW 110
111 =D AR DB 2 e 56.2 AW 111
112 &F PIE D 1 e 56.5 112
113 PR 0O W 2 = 56.5 AW 112
114 R B 2¥ 1 ES 56.7 114
115 R Hik 3 2 ES 56.8 115
116 RS HH AL 1 ES 57.0 116
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118 ENG 5 E3 2 ES 57.0 AW 116
119 NINE K= wE 1 ES 57.2 AW 119
120 EE THE HHE 2 ES 57.7 120
121 NI B e 1 ES 57.7 AW 120
122 EE E 2 ES 59.2 122
123 FEal B4 2 s 59.4 123
124 b 55 = 1 ES 59.5 AW 124
125 2 RE E 1 ES 59.9 125
126 NI IR ELS 1 ES 60.0 AW 126
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1 i IRTT R 3| B 2.51 AW 1
2 JIRde HRE A 1| 8 2.51 AW 1
3 B FE (e 2 5 2.51 AW ik
4 ] LT JeE 2| &8 2.55 AW
5 BEH KiE AT 3 5 2.56
6 HAWL =T +2 3| &8 2.57
7 i 7)1l 2% 2| B 2.59 AW
8 i feaz:} BN 3| B 2.59 AW
9 H=HAL K & 1| 8 2.59
10 ] R #H 3| B 3.00 AW
11 AW AT ESPN 2 | B 3.00
12 EAF ek b3 1| 8 3.00 AW
13 EE 2F RE 2 | B 3.01 13
14 JIIRFE BEF #5 2 | B 3.01 13
15 ERE)N | BE BEK 1| 8 3.04 AW 15
16 £ T ESE] PR E] 3.05 16
17 i Sl KiE 3| 8 3.05 AW 16
18 BRER | FHE Eia1:] 2 | B 3.06 18
19 [EESE — B 2 | B 3.08 19
20 BEH I i 1| 8 3.10 20
21 Eae AR b 2 | B 3.11 21
22 FRIR 7 EZS 1| 8 3.11 21
23 i EBR i 1| 8 3.11 AW 21
24 B 2R KER 1| 8 3.11 AW 21
25 BEH HAO 125 1| 8 3.11 21
26 BEH il]s] S 1| 8 3.12 26
27 H=AL L3 A 2 | B 3.13 27
28 BEH 2R PN 2 | B 3.13 27
29 AL =l B 2 | B 3.14 29
30 F/R BE 2 | B 3.14 AW 29
31 FH ) 2| B 3.16 31
32 8 fEE 2 | B 3.16 31
33 A — 1 C 3.16 31
34 SR = 1 C 3.16 AW 31
35 7x W 2| B 3.17 35
36 = il 1 C 3.18 AW 36
37 tE i 1 C 3.18 AW 36
38 el BA 1 C 3.19 38
39 JIINE SRE R 2| B 3.19 38
40 JIINFE #E RE 2 5 3.19 38
41 IR ) i 2| B 3.20 41
42 EAL | ARE Fik 2| B 3.20 41
43 BE% BIR Wk | 2 | B 3.20 41
44 N TEH RA 1| B8 3.21 44
45 BE% A RE 2| B 3.21 44
46 mEH gL hEst 2| B 3.21 44
47 BESH HE py) 1| B8 3.21 44
48 AL 55 = 2| B 3.22 48
49 IR &3] 55 1| B8 3.22 48
50 AW 1| I 2 | B 3.23 50
51 AW ARER BA 2 | B 3.23 50
52 E5 EH Rt 1| B8 3.23 AW 50
53 AW HEAR B 2 | B 3.24 53
54 mREH & E 1| B8 3.24 53
55 REF h¥F Es 2 | B 3.25 55
56 3] # 3@} 1| B8 3.25 55
57 BE LT BA 1| B8 3.25 55
58 EAF AR &R 2 | B 3.25 AW 55
59 5 )11 Pt 1| B8 3.25 AW 55
60 ) IR " 2| B 3.26 60
61 AL ETT EES 3| 5B 3.26 60
62 i ME &R 2| B 3.26 60
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67 E¥ g " 1| B8 3.29 67
68 =R | B/L & 1| B8 3.29 67
69 i JiN]::] Bt 1| B8 3.31 AW 69
70 i B FHR 1| B8 3.31 AW 69
71 JIRAe AR Mtk 1| B8 3.32 AW 71
72 ESa =8 2 2 ] 3.32 AW 71
73 ) FAR 5 1| B8 3.33 73
74 E¥ [=]m] BE 2| B 3.33 73
75 F=AL KE BN 3| B 3.34 75
76 BEH A A 1 ] 3.34 75
77 PR e Hih 2 ] 3.35 77
78 FRR FHE Ao 1 ] 3.35 77
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3 =15 EE i 1| % 3.15 AW 3
4 Eal 0 WEE 1 X 3.17
5 Ik it Y 1| % 3.18 AW
6 Ik £ B 2 | & 3.18 AW
7 =15 5 1B% 1 = 3.18 AW
8 ES 7 HH 3| % 3.19
9 Eal INRTT <Bn 1 x 3.21
10 FA 1A A S 3.22
11 F=A AR R | 2 | & 3.23 11
12 el EES E3 2 | & 3.25 12
13 H=AWL K D 1| % 3.25 12
14 NIRE il Tk 2 | & 3.25 12
15 EES5 il (e 1| % 3.28 15
16 EING k] fEE P EES 3.28 AW 15
17 BEH b= i 1| % 3.28 15
18 BEH i LE S 3.29 18
19 NIRE Bl E 1| % 3.31 19
20 KR BT e 1| % 3.32 20
21 Tk Ea1n XTI 1| % 3.33 AW 21
22 EAFR AT R 2 | & 3.34 AW 22
23 Tk Rk HE 1| % 3.34 AW 22
24 EAF | REE | 0pY 2 | % 3.35 AW 24
25 =5 B F5E 1| % 3.36 AW 25
26 15 it " P EES 3.37 AW 26
27 R i £ 2 e 3.38 27
28 I EA I HhH P EES 3.38 AW 27
29 I EA =5 g3 1| % 3.38 AW 27
30 S5 )11 RE 2 | & 3.39 AW 30
31 S L8 BERE 1| % 3.39 30
32 S BT THE 1| % 3.39 30
33 BE%H Nk ERES 1| % 3.39 30
34 BRE) | #HE F 1| % 3.40 AW 34
35 KR ’IR B4 P EES 3.40 34
36 A EE hLy 3| % 3.41 36
37 I EA KR & 1| % 3.42 AW 37
38 NINE RE ik 2 s 3.42 37
39 I EA HE £ 1| % 3.43 AW 39
40 PR fiREP =1 2 | & 3.44 40
41 EPo S ¥ 2| & 3.44 AW 40
42 NN NR LS 2 | & 3.44 40
43 PR =L B 1| % 3.45 43
44 ERE) | R = 1| % 3.46 AW 44
45 EPo =S EZiid 1| % 3.46 AW 44
46 EF =[m] FIE 1| % 3.47 46
47 PR jpt| EE 2 | & 3.47 46
48 PR AR EH 2 | & 3.47 46
49 AL i HLT) 1| % 3.47 46
50 N | $aRE Tk 2 | % 3.47 AW 46
51 JIAHE il B 2 | % 3.47 AW 46
52 AL TR BE 1 s 3.48 52
53 i) JRE f 1| % 3.49 AW 53
54 353 Fiilt| zis 1| % 3.49 53
55 Ik [ Hh3a 1| % 3.49 AW 53
56 =E% =y ] ForR 1 s 3.49 53
57 JIAHE Rk Sk 1| % 3.50 AW 57
58 HEAL | HER BE 1| % 3.50 57
59 NIWE | AEE EZ: 1| % 3.50 57
60 AL A WHE | 2 | & 3.52 60
61 5 BRI ] 1| % 3.53 AW 61
62 IR E15] WAl 1| % 3.56 62
63 EAFR il jiE 2 | % 3.57 AW 63
64 EAFR B8 F74 1| % 3.57 AW 63
65 o 523 2 1| % 3.58 65
66 pads DRE w7 1| % 4.00 AW 66
67 AL &M B4 2 | % 4.00 66
68 HEF THE (e 2 | & 4.00 66
69 EAFR it 1| % 4.01 AW 69
70 3 %A 1| % 4.01 69
71 AL mE 2 | & 4.01 69
72 =l fEES 2 = 4.02 72
73 E] BE 2 = 4.02 72
74 =l iot2] 2 = 4.03 74
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76 EF FIE D 1 £ 4.05 76
77 NIAAE FHB HhE 1 = 4.05 AW 76
78 AL BR FEE 2 | & 4.06 78
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80 JIWde m IRAEA 1 E:] 3.36 AW 80
81 Al ilny KE 2 E:] 3.36 80
82 Al B+ g 1 E:] 3.36 80
83 R & IRAER 2 E:] 3.36 80
84 e e 1 2 3 3.36 AW 80
85 BE A g 1 E:] 3.37 85
86 Al 7K HE 2 E:] 3.40 86
87 Al LT EE 1 E:] 3.40 86
88 ERi RE J2RI 2 3 3.40 86
89 JIWde TokH = 1 E:] 3.42 AW 89
90 IR RE B 2 E:] 3.42 89
91 Al ER = 1 5 3.42 89
92 ] Ea —i 1 E:] 3.43 AW 92
93 BE AR KA 1 3 3.45 93
94 B R 518 1 3 3.46 AW 94
95 BEE JIH K5 1 E 3.47 95
96 JINFE ~H BE 2 E:] 3.48 96
97 B ERR b 2 3 3.49 AW 97
98 JIIAHe R s8 1 5 3.50 AW 98
99 JIIAHe =¥ ER 1 3 3.51 AW 99
100 JIIWHe TE % 1 E:] 3.52 AW 100
101 JIIWHe it ) Bh 2 5 3.52 AW 100
102 e Lzl (3 2 3 3.52 AW 100
103 EF JNE El 1 E: 3.53 103
104 EF =N BER 1 E:] 3.55 104
105 E3 B Je i 1 5 3.55 104
106 e )11 EN 2 E:] 3.58 AW 106
107 e =52 a2z 1 E:] 4.00 AW 107
108 F=AWL K8 s 2 E:] 4.04 108
109 F=AWL SRR 7 1 E:] 4.08 109
110 =R ) e 1 E:] 4.09 110
111 il ALl B 1 E:] 4.27 AW 111
112 EF il =3} 1 E:] 4.28 112
113 F=AL =M 1z 1 E:] 4.31 113
114 EF iy DE 1 3 4.35 114
115 il = & 2 3 4.38 AW 115
116 JIIE T R 2 3 4.53 116
117 JIIE = EON 2 3 4.53 116
118 JIIE 5 R 1 3 4.54 118
119 JIIE hE 25 1 3 4.54 118
120 ik it A 2 3 4.56 AW 120
121 45 e RE 1 3 5.06 121

80 Al Eit 3 kS 4.07 79
81 B S 1 kS 4.10 81
82 =8 L) 2 ES 4.11 AW 82
83 HhE &S 1 kS 4.11 AW 82
84 AR DME 2 ES 4.12 84
85 HH it 1 kS 4.13 85
86 ER 2 AE 1 kS 4.14 86
87 ER R 2Ty 1 kS 4.16 87
88 NAAE ] EE 1 ES 4.16 AW 87
89 NAAE FHB E3 2 ES 4.19 AW 89
90 &5 KR BALE 2 kS 4.20 AW 90
91 JINE e WE 2 kS 4.27 91
92 JIAE R B 1 kS 4.27 91
93 = JIIE T 2 ES 4.28 93
94 =BE il WwE 2 kS 4.28 93
95 En Eiis) AR 1 kS 4.30 AW 95
96 KEF [ = 2 = 4.35 96
97 = Ak i 2 % 4.40 97
98 i FR 2 kS 4.43 98
99 /N HOH 1 kS 4.43 98
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101 AEF HE 2 kS 4.50 100
102 Eh B 1 kS 4.55 AW 102
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